FAST CLAMPS Work locators

Risers + V blocks " Centering pin

Accessories 1

Page

t
t

I q

L]
»
.

Page 14.40

X rl

{

Page 14.47

Side Clamps Hook Clamps

Page 14.65

Adjustable stops Work supports

T

Remote control units Contact bolts

Clamp screws

Page 14.83

OML1 14.1




Fast Clamps

-

Speedier In Setup
Than Conventional
Manual Clamping

No tools needed

Spiral cam mechanism

[ Positive Clamping

14.2 | OML

p
More Economical
Than Hydraulic
Clamping

Much lower fixture costs

Maintenance free

~

Fast Clamps serve for varied applications in machining
and assembly jobs in different industries.

Space-Saving Design

Removable handle

SN

Adjustable Clamping Force
Adjustable-torque

handles are also ’

available

=

Office
Machines

A\
Audiovisual
Apparatus

| E—

I |




Added Product Items Offer
A Wider Range Of Applications

Stronger Clamping Force
Clamping-Height Adjustment

Greater Performance

) Swing Clamps

o Heavy

LL

(®)) Pull Clamps Clamping Range:up to 1.6mm
c HeaVy & Clamping Force:up to 6,000N
Q. Clamping Range:up to 2.5mm : :

e Clamping Force:up to 8,000N

)
®)

Side Clamps, Standard
Clamping Range:2mm
Clamping Force:up to 4,000N

Push Clamps, Standard
Clamping Range:up to 2.5mm
Clamping Force:up to 4,000N

Pull Clamps, Standard
Clamping Range:up to 2mm
Clamping Force:up to 2,500N

Swing Clamps, Standard
Clamping Range:up to 1.8mm
Clamping Force:up to 1,200N

Clamping-Height Adjustment

L ‘!’ _-_,\‘. i
=/

This extended line of Fast Clamps allows clamping parts made

from materials ranging from non-ferrous metals like aluminum, zinc, etc.

to cast iron and steel.

. . o To compensate for variations between castings, a long clamping height

Settlng a clamping force is |rf1portant when range is needed. Clamping force s also an important factor for castings
clamping a part that can easily get strained. that receive a comparatively heavy load when being machined.

OMLI 14 3




14.4 | OML

QLPD

PULL CLAMPS(Standard)

Body & CAM

Material | SCM440 steel
Finish Black oxide
Heat Treat | Quenced and tempered
Material | S45C steel
[Finish | Black oxide |
Ball Knob
Material | ABS resin
With Handle Without Handle [Color | Black |

Note) Clamping Pins or Screws must be ordered separately.

Recommended
Clamping Position

How To Use

Pull Clam

How To Locate Workpiece
1. Basic Method

- ~
£ o L ‘
= C
T & ] :
o o B —i ‘
%. 'g. Locating Pin
(_Ev (_Ev 2. Method for clamping and locating a workpiece at a time
O O ) Give an accuracy shown below to the hole spacing
G) G-3 Handle Mounting Holes to generate a locating accuracy of +0.08.
(Angle between 2 holes:30°)
- 3 Options of Handle Mounting Position ‘ +0.02
< L b (Clamping-Pin Hole Spacing)
ﬁ Clamping-Pin Hole (F7)
(©)] A-F — (See Clamping Pins) ]
# M(CIamp]ng-Pin or Clamping-Screw tLL‘j
A Settmg Hole) ‘ $
=N ‘ £0.02 ‘ Locating Pin
[ = - - w !
111 - @ (Pull-Clamp Locating Hole Spacing)
L ‘LJ_‘
D: \‘ | ‘ | I‘F\
(A] i #N Technical Infomation
Locating-Pin Hole Allowable Loads in Machining of Workpiece Bottom
Ensure that a force more than indicated below
is not applied to the workpiece bottom.
: A D M ] Allowable Force To Workpiece
Series |10 B C |pcp| E F G H | K\ Fn Series Bottom (Per Clamp)
QLPD150| 32 40 13.5 18 | 245 |M4x0.7 8 deep| M5x0.8 90 | 15 5 QLPD150 max.2000N
QLPD200 | 40 50 18 25 | 30.7 [M6x1 9 deep| M6xi 110" | 2 8 QLPD200 max.5500N
Sores N p Clamping Clamping | Recommended Workpiece
(Go) Force (N)| Mechanism | Thickness Tolerance **)
QLPD150| 8 | 10 900 Spiral Cam +0.3 Workpiece
QLPD200| 12 | 13 2500 Cam Angle:4” +0.5 ) dj /—L‘
With Handle — Without Hanslvle_ - ﬁ [ === @
owable Operating| Weig eig
Part Number | J L Load (N) **) (g Part Number Q) Max. Force ‘
51991101 | 765 | 20 150 245 51991103 | 220
51991102 | 1115 | 25 200 470 51991104 | 420 ) 2720722

%) Grip length of Clamping Pin(workpiece thickness)

¥%) Maintaining these recommended tolerances allows minimizing the variation of handle position
in the clamping mode in clamping with the use of the Clamping Pin.

*%%) Allowable load to operate the handle,

Fixture Plate ~




QLPD-X CLAMPING PINS(Standard)

How To Use

E C(Workpiece Thickness) °
E Locking Screw 2 8@
H 3 ‘S o
! 8 58 £
J-Hex. Socket Head =y = =F
Setscrew 7, ! :‘ =
Y, ©) © ) )
a < m Shank = —
o e ] || o e
Material | SCM435 steel NN 2==2Z,

Ll il I N / [T)
Finish Precision ground ' ' -
Heat Treated (shank end) A

Knurled Head

Material | SCM45C steel
Finish Black oxide C dimension is adjustable by +/-1mm to fit actual

Heat Treat | Quenched and tempered workpiece thickness.

; Ordering Example
A|B| C Pull Weight
Part Number —1(t7) ¢77)By 0.1mm)|P|E|F|C| H | | Clamps (g
519911054 Dim. in mm) 5 n. 8 lo mavl6 QLPD150-5x5-10.5
<(C Dim. in mm 15 hcns : .| min. 8 to max. - -

51991106 -C Dim. in mm) 5 6 3=C=50 (10{10(17| 3 |M3x0.5(M3x0.54L | QLPD150 Series min. 8 10 max 19 Shank Size C Dim.
51991107 -(C Dim. in mm) 8 | min.30 to max.60 — . .

. 1 4=C= 16|15 |22 (4.3 M5x0.8 M5x0.8-5L | QLPD2 — ... - Custom Cl Pins(diff tBd )
51991108 -(C Dim. in mm) 8 10 C=80 (16|15 3| M5x0.8 {M5x0.8-5L | QLPD200 Series nin31 o maxT7 artésat\)lg';lablgrr;alr;gequgi. ifferen imensions

%) For ordering, specify workpiece thickness.

QLPD-M CLAMPING SCREWS(Standard)

‘ (Spacing between Clamping-Pin

and Clamping-Screw holes)

Finish Black oxide
Heat Treat | Quenched and tempered

— EHE o

Material | SCM440 steel :IE@E

Pull  Weigh Recommended Spacing Tolerance ‘ . .
Part Numbef A| B |C|D|E|F|G|H|J C[arl;ps e(ag)t in Use of Clamping Screws Locating Pin
51991109 | _ M508 | 6 QLPD150| 3
51901110 | ° Moa | 7, o7 |"23 |4 |®O/seies | 4
51991111 | A M85 | 9 QLPD200| 10
8 1222|1543 6 |4 - T yn
51991112 ‘M10X1-5 11 Series 13 Custom Clamping Screws (different screw thread sizes) are available on request.

OML| 14.5




QLPDH PULL CLAMPS (Heavy)

How To Use

Body & Clamp ring

Material | SCM440 steel
Finish Black oxide
Heat Treat | Quenced and tempered

Handle Shank

Material | S45C steel
Finish Black oxide
Heat Treat | Quenced and tempered

Material | Plastic
Color Black

Note) Clamping Pins or Screws must be ordered separately.

How To Locate Workpiece

Unclamping Position 1. Basic method
7(% Clamp Starting Position

Recommended Clamping Position Locating Pin
2. Method for clamping and locating a workpiece at a time.
Give an accuracy shown below to the hole spacing to
generate a locating accuracy of £0.08.

‘ +0.02
\ﬁ(CIamping—Pin Hole Spacing)

Clamping-Pin Hole (F7)

ﬁ \ Locking Screw (See Clamping Pins)
\ i !
\%_Hp_g;CIam ing End 3 Handle Mounting Holes

(Angle between 2 holes is 35 )

[

)

= Countersink

‘ +0.02 ‘ Locating Pin
oC (Pull-Clamp Locating Hole Spacing)
© + The handle can be removed by loosening the Technical Information
< }‘; ] ——- locking screw.
el Z[ To keep the handle mounted permanently.make
T sure that the locking screw is fully tightened.
©|_¢B 3 options of handle mounting position. Allowable Loads in Machining

of Workpiece Bottom

Workpiece

Max. Forceﬁ

_Mounting-Hole Effective Depth J

Part Number | Alowdbk Foree To Workgiece Botiom (Per Ciamp)

51991501 max. 8000N
51991502 max.14000N
Part number | Series A B Cc D E F G H J X QLPDH Perf C
(£0,01) (F7) (P.C.D) a0 erformance Curve QLPOHE00R
51991501 |QLPDH400R| 50 65 28 12 36 160 26 2 10 40 7000
51991502 |QLPDH500R| 63 80 34 16 45 180 28 2.5 12 50 2 6000 QLPDH400R
Recommended § 5000
Part number | Series L /Iillowgble([(\)l;;eritgg CIam;ET\gDForce Nf'aﬁp‘!‘g Workplece Thickness V\éi'g;’t 2 a0
g ECNanISM | Tolarance #kk) 9 2 aw
51991501 [QPDHANRM 8125 4 ceep) 6,000 |Spiral Cam|  +05 12 £ 2
51991502 [QLPDH500R [Mi0x15 18 deep 8,000 |CamAnge:4|  +0.8 2.2 o 100
%) Grip length of Clamping Pin (workpiece thickness) 0 100 200 300 400 500 600
¥%) Allowable load to operate the handle Operating Load(N)

¥%%) Maintaining these recommended tolerances allows minimizing the variation of handle

position in the clamping mode in clamping with the use of the Clamping Pin.

14.6 | OML




QLPDH-X CLAMPING PINS (Heavy)
How To Use
Material | SCM435 steel Locking S 2 o
Finish Precision ground M% &9 2 §
22 __ 5e
Material | S45C steel *”v _ gsE
v Finish | Black oxide T |
Heat Treat | Quenched and tempered Shank SN T <
|
C dimension is adjustable E C(Workpiece Thickness)
by = Tmm to fit actual workpiece F
thickness. J 1 G,
K-Hex. Socket Setscrew ™\
7
@ ©
Al R T o Ordering Example
° 1, =" QLPDHA00-12-20, 5
1 — / T L :
: 7 S| Part Number C Dim.
Knurled Head -Custom Clamping Pins (different B dimensions)
are available on request.
A|B C %) Weight
Part Number (7)\(F7) By 0. 1mm) DI E|F|G|H J K Pull Clamps Q@
51991503C Dim. In mm) | . | 12 18 70 to 160
AL AL SL AL SLAE.LLELELLS B < é — . . . 25 - 2~ ¥~
51991504-(C Dim. In mm) 12 16 0<C=100 4 2338 (21.5/6.5| M 8x1.25 | M 8x1.25- 8L | QLPDH400R 175 10 265
519915054 Dim. In mm)| . | 16 24 160 to 350
AL ALSL AL S LEALELELLLE — < é = . . 5- 2~ ¥ Yvv
51991506-(C Dim. In mm) 16 20 0<C=120 30 294828 9.5/ M10x1.5 | Mi0x15-10L | QLPDH500R 395 10 515

¥)For ordering, specify workpiece thickness.

@] H~Ip] MY CLAMPING SCREWS (Heavy)

G Recommended Spacing Tolerance
E I in Use of Clamping Screws

aF

] K
Material | SCM 435 | _’l
Finish Black oxide
Heat Treat | Quenched and tempered -

D
dA

(Spacing between Clamping-Pin
and Clamping:Screw holes)

Pull | Weight ‘
Part Number | A B CIDIE|F|G|H|J|K ClampS (g) Locating Pin
51991507 | . [Mi2x1.75] 13 40 Custom Clamping Screws
12 2038 (2 [21.5/6.5/10| 4 |QLPDH400R (different screw thread sizes)
51991508 Migx2 |17 55 are available on request,
51991509 Migx2 |17 90
51991510 16 V2025 |21 25|48 (2.5[28 |19.5/13| 5 |QLPDH500R 10

OMLI| 14.7




SWING CLAMPS(Standard)

Body & Shaft

SCM440 steel
| Quenched and tempered |
Clamp arm & Adaptor Head

Material | S45C steel
[Finish | Quenched and tempered |

Material | S45C steel

Material
[Finish

[Finish | Black oxide |
Ball Knob
Material | ABS resin
With Handle Without Handle [Finish | Black |

Counterclockwise Clamping

Clamping End |
ST

Y
![1]| Clamp Starting X
| ‘ ‘ Position / -
L
e
1 >
Unclamping /
Position

Recommended

Clockwise Clamping

Position

Position

Unclamping ‘
1

G ' _,\//’
Clamping End /

Throw

Clamp Starting
Position

&-

° Recommended

T-3 Handle-Mounting Holes

(Angle between 2 holes:35° )

3 Options of Handle Mounting Position
o

_ N s B
Ll #U
_ o T ) r
£ a
€l < g%‘_i.‘ !
of it
45

. Clamping D
Size/Type Direction A|B]|C (CD) E|F | G|H|J|K L
QLSW150R |  Clockwise 32
QLSW150L | Counterclockwise | *) 30 1 46| 18130 10 3 8 14 2 | Med
QLSW200R Clockwise 45
QLSW200L | Counterclockwise| **) 40163 2538|1340 |12 ]16 | 32 | MBx1.25
%) Actual clamping height : 31.4 to 32 6 (clamping range :1.2)

%) Actual clamping height @ 44.1 to 45,9 (clamping range :1.8)

; Clamping| Clamping
Size/Type | M . = . = U Force(N) | Mechanism
QLSW150R
QLSW150L 15 | 17 | 51 57.5 [M4x0.7 8 deep|M5x0.8 800 Spiral Cam
QLSW200R Cam Angle:4’
QLSW200L 20 | 225 | 69.5 | 78.1 [M6x1 12 deep |M6x1 1200

With Handle Without Handle
Allowable Operating (Weight Weight
Part Number| U V Load (N) $¢4) (@ Part Number @
51991115 51991119
s1901117 | 2 | P 150 520 51991121 | 2%
51991116 51991120
51901118 | |17 20 o 51991122 | %%

%) Allowable load to operate the handle

14.8 1 OML

Note : The handle must be ordered separately.

How To Use

Counterclockwise Clamping
(Handle at Clamping End)

BJ732
Contact Bolt

Counterclockwise Clamping
4 (Handle at Clamping End)

Custom Riser

Tip Installation

When installing a tip on the clamp arm,
lock the clamp arm using a wrench

to prevent the clamp from receiving
any torque.

Wrench




QLSW-SH

MACHINABLE CLAMP ARMS FOR STANDARD SWING CLAMPS

Technical Infomation
2-F-Ball Plungers | | Allowable Loads in Machining of
C i Workpiece Bottom
% Workpiece
T T B | Fixture Plate
Nz Max. Force ﬁ !
GE S / %/)
|
_ L
a A Series Allowable Force To
Material: S45C steel L g Workpiece Bottom(Per Clamp)
Finish : Black oxide QLSW150 max.2100N
QLSwW200 max.2700N

120¢

0.

Clamp Arm Length Vs. Clamping Force Clamp Arm Length Vs. Strain During Clamping

How To Use

= o QUsw209 Size GLBW200) Size ) - Use for clamp arm customization
% ol . ’.\ngnsp S length denotes - Machine to your clamping requirements
E’ 90 = C dimensions below. ) o ﬁ;J?;T
o w % 0 -Clamping force and strain | | (Clamping Height in Use of e
5 alswis during clamping denote Machinable Clamp Arms) . o
8 0 values gained when the =2 ‘ \ ‘
° max. allowable load is <| g5 C
L] Ta_smgo S\zess Ll 1] / applied to the handle. | 5L ,:jr,:::
Clamp Arm Length(mm) Clamp Arm Length(mm)
Part Number A | B | C | D | £ | F [Alowable Weight of| oot ojamps| Weight Part Number A
(F8) Clamping Tip¥) (g) (9) .
. 51991513 34*)
51991513 [ 30 | 60 | 45 [ 12 [ 10 | M4 100 QLSW1 SOSer!es 150 51991514 47°*)
51991514 |40 | 75 | 55| 16 | 16 | M5 QLSW200Series 330

%) A clamping tip to mount on the end of the clamp arm must not weigh over 100g.

%) Actual clamping height:33 4 to 34.6 (clamping range:1.2)
) Actual clamping height:46.1 to 47.9 (clamping range:1.8)

OMLI 14.9



SWING CLAMPS (Heavy)

Body/Cam/Handle

Material | SCM440 steel
Finish Black oxide
Heat Treat | Quenced and tempered

Spindle

Material | SCM435 steel
Finish Black oxide
Heat Treat | Quenced and tempered

Arm/Covering/Handle

Material | S45C steel
Finish Black oxide
Heat Treat | Quenced and tempered

Adjustment knob

Material | S45C steel
Finish | Black oxide |
Material | Plastic
Color | Black |
Counterclockwise Clamping Clockwise Clamping
- Clamping End
[ﬁ/ Clamp Starting Position
I L av)
R ()
= X &
! g
‘90w : \)\
Y " Clamping End
r\, \/
© '\%_j
55
[0l
To
o5
55 ¢E
€ 3 ‘ ‘ Adjustment Knob
=f= ; o2 =t
I pr—
>
B = - D
S o] ~ - oCP
il BERCR *
L 2c @ 7
(=t =1 | 582 S
t OI g ; o
) £ | Bottom
o ‘ 4B

The handle can be removed by
loosening the locking screw.
To keep the handle mounted

How To Use
BJ732
Contact Bolt

Clockwise Clamping
(Handle at Clamping End)

Clockwise Clamping
(Handle at Clamping End)

Custom Riser

Tip Installation

When installing a tip on the clamp arm lock the

clamp arm using a wrench to prevent the clamp from
receiving any torque.

Wrench

Technical Information

Allowable Loads in Machining of
Workpiece Bottom
P =

[ Tel
Workpiece

Max, Force !

77

Fixture Plate

[
%

permanently, make sure that X
the locking screw is fully Serfes Allowable Force To Workpiece
tightened. ) Bottom(Per Clamp)
3 options of handle mounting
When Handle Is Removed position. QLSWH400 max. 8000N
QLSWH500 max.14000N

Part Number

Clamping |Clamping | Clamping B

C/IDIE|F|G|H|J|K|L|M

Direction| Range | Height
51991515  [Clockwise
51991516 |Counter- 12 [70t0 80| 40 | 22 | 16 | 38 | 16 | 30 [120| 40 | 13 | 50 | 20
51991517  [Clockwise
51991518 Counter-| 1.6 (8010 90| 50 | 25 | 20 | 48 | 24 | 38 |137| 50 | 18 | 60 | 25

clockwise

S Allowable (Clamping Clamping | Weight
Part Number | N P Q| R PCD) T U Iggg?ﬂ?g F(o'\T):e Mechanism|  (kg)
51991515
51991516 42 |M 8x1.25/125| 23 | 28 (Mox1 12 deep| 39 600 3,500 Spiral Cam 1.1
51991517 Cam Angle
51991518 48 |M12x1.75| 160 | 28 | 35 |M8¢1.25 16 deep| 47 | 600 6,000 2 2

*) Allowable load to operate the handle

14.10 | OML

QLSWH Performance Curve

600 QLSWH500R/L

QLSWH400R/L

Clamping Force(N)

100 200 300 400 500 600

Operating Load(N)




APPLICATION EXAMPLES

OML I 14.11




Information on Your Making Custom Clamp Arms for Standard Size of Swing Clamps
Recommeded Dimensions

. A L (Max.)
Series (F8) B E F G H J K ") M N
QLSW150 10 12 5 32 M4x0.7 11 1.5 30 45 15 G5
QLSW200 16 16 6 42 M5x0.8 15 2 40 55 20 C8

x) See page 138 clamping force vs, clamp-arm length

Clamp Arm Installation/Removal Instructions

To install a clamp arm.

1.Fit it onto the shaft getting the stop pin received in the stop-pin slot provided on the clamp-arm bottom.

2.Place the adaptor head onto the shaft getting the shaft fitted into the shaft-receiving pocket in the
adaptor head. and then lock the adaptor head using a hex. socket head cap screw.

3.Tighten the ball plungers inside the clamp arm.

To remove the clamp arm, follow the above steps back.

Hex. Socket Head
How To Determine D Dimensions Cap Screw

Series C D Shaft-Receiving Pocket

QLSW150 46 |46 - Clamping Height
QLSW200 63 |63 - Clamping Height

Ball Plunger

| )
Ol g . Px ro
gl 2]
O = | ‘ |
= | | 1 \2-G-Ball-Plunger Holes
2 S
= |
F (Min.)

Clamp Arm Customization Examples

Low Height Clamping

Plastic Pad Attachment

Distant Point Clamping Clamping on Narrow Surface

14.12 | OML




Information on Your Making Custom Clamp Arms for Heavy Size of Swing Clamps

Recommended Dimensions

. A E L
Series (F8) B C D (+0.1) F G H (Max.)

QLSWH400 32 15 21 13 5 M6x1 20 40 50

QLSWH500 41 19 24 15 6 M8x1.25 25 50 60

Clamp Arm Installation/Removal Instructions
To install a clamp arm,

1. Place the wave washer on the shoulder of the bolt and then fit the clamp arm onto the bolt,
2. Place the adjustment knob onto the bolt getting the bolt fitted into the bolt-receiving pocket
in the adjustment knob, and then lock the adjustment knob using a hex. socket head cap screw.
3. Align the countersinks on the side of the holder with the setscrew holes on the side of the
clamp arm, and then lock them using the hex. socket setscrews.

To remove the clamp arm, follow the above steps back.

Hex, Socket Head Cap Screw

Adjustment Knob

Bolt-Receiving Pocket

Countersinks

Holder

Clamp Arm Customization Examples

Gooseneck Shape

Toggle Pad Attachment

- T
|
¢ B
L
__:___L__L___: Qt o
2-F
A

Carbide Gripper Attachment

Irregular Shape

OML | 14.13




SWING CLAMPS (Mini)
How To Operate

Material | S45C steel
Finish | Black oxide
Heat treat | Quenched and tempered

Arm / Cam Shaft

Material | SCM440 steel
Finish | Black oxide
Heat treat | Quenched and tempered

Material | Phenolic plastic

[ Color | Black |

Counterclockwise Clamping Clockwise Clamping

Clamping Throw 0 Arm Swing

° 5 -—
0 Unclamping Position ,,+:
- K

Recommended
Clamping Position

G

H _‘JI i N Clamp Starting Position 1. Unclamped
T I T\ 20° Load a workpiece.
\_Advance Throw
|
=
Advance Throw o SN
e 70 = >
‘ Clamp Starting Postion N\, 50°
f K \ N

Unclamping Position ;-

Clamping End - Recommended

e Clamping Posifon \ 1007

~Arm Swing 5 \. Clamping Throw

—
%] om
T [T
—= = g 2. Arm Swing
L—Q~ =) Turn the handle to set the arm in position.
Rough Finished
Mounting Holes Surface Contact Surface Contact - .
2 g0y i asll)
| £
2 1733
2 3
Spindle 2 S
g 5
S <
Clamping Height *) .
Clampin o Clamping| Advance
Part Number Direc?ior? Flnlshed Surface Contact Rough Surface Contact | gyoke | Stroke
Min. Max. Min. Max.
51991822 Clockwise 228 24.8 22.4 24.4 1 03
51991823 | Counterclockwise| (22.3-23.3) | (24.3-25.3) | (21.9-22.9) | (23.9-24.9) :
51991824 Clockwise 31.3 33.3 32.2 33.3 14 11
51991825 | Countercockwise| (30.6-32) (32.6-34) | (31.5-32.9) | (33.5-34.9) ' ' 3. Clamping Setup
*) Clamping height can be adjusted. The parenthesised values denote actual clamping height. Continue turning the handle to set the

spindle close to the workpiece.
REUMNnl-a A | B | C | D| E|F |G| H|J|K|L|M|N|P|Q

51991822

30|10 | 18| 18 1458/ 49|26 | 22| 6 (115 8 |43 50| 15| 36
51991823
51991824

40 | 14| 23| 23(61.3/ 66 | 35| 30| 8 (15.3] 10 |5.3| 63 | 20 | 45
51991825

. |Clamping . :
Allowable Operating Clamping | Weight
Part Number SIS} T Ul VW ) Fa;ge Mechanism | (g)
51991822 6 [22.8/M4x0.7/ 43|27 | 8 100 1,100 | SpiralCam | 112
51991823 £o
51991824 Cam Angle:5
51991825 8 |28.5/M5x0.8| 5.3 | 34 | 10 150 1,800 250 4. Clamping
Turn the handle to the recommended clamping
**) Allowable load to operate the handle position.

14.14 | OML




Performance Curve

1800

1600

1400

1200

QLSWC(00

1000

800

600

Clamping Force (N)

400

200

40 60 80 100 120 140 150

Operating Load (N)

QLSWC150

Technical Information

Allowable Loads in Machining of Workpiece Bottom
Ensure that any force more than stated below is not

applied.

Workpiece

\
Max. Force ﬁ

\
Fixture Plate
Series Allowable Force to Workpiece Bottom (per Clamp)
QLSWC100 max.2,300N
QLSWC150 max.3,600N

How To Operate

How To Change Handle Position

The dodecagonal socket in the hub of the handle
allows changing the handle operating angle by 30°.

Hex. Socket-Head
Cap Screw

Note) For size "W", see
the chart on the previous
page.

How To Release Locked Handle

When turned beyond the clamping end, the handle
will be locked with a click. The locked handle can be
released by following the instructions below.

When the spindle is not installed,
Clamping End

Handle Locked Position

Turn the handle beyond the locked position until
another click is made.

When the spindle is installed,

Clamping End
Ping <<~ Return

(ii} \
N— — N

Handle Locked Position

Lower the arm at the handle locked position and then
return the handle keeping the arm lowered.

OML | 14.15



Counterclockwise Clamping

SWING CLAMPS (Mini) WITH CAM HANDLE

Body / Washer / Spindle

Material| S45C steel
Finish |Black oxide
Heat treat| Quenched and tempered

Arm / Cam Shaft / Handle

Material| SCM440 steel
Finish
Heat treat| Quenched and tempered

Black oxide

Clockwise Clamping

Clamp Starting Position

Recommended
o Clamping Position

S W =] ) Clamping End
@ 1 O Unclamping Position
Yol L d’DM
< £ |
(g
B 135°
8 C
Rough Finished ~
Surfaceugontact Surfalgelz Contact @ /
NN
O\
i) ° 3y
e: (-]
]
E
g
Mounting Holes ‘ (o]
) Clamping Height *) .
NIl C'2MPING | Finished Surface Contact | Rough Surface Contact Clsatmplng Overall
Direction roke | Stroke
Min. Max. Min. Max.
51991826 Clockwise 228 24.8 224 24.4 0.8 19
51991827  |Countercockvise| (22.4-23.2) | (24.4-25.2) | (22-22.8) | (24-24.8) ’ ’
51991828 Clockwise 31.3 33.3 322 342 1 15
51991829  |Countercockvise| (30.8-31.8) | (32.8-33.8) | (31.7-32.7) | (33.7-34.7) )

*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.

Part Number A B

C|  D|E|F |G

H|  J|K|L|M|N|P|Q

S1991826 | 50 | 10| 18 | 18| 52| 26 | 22| 6 |11.5| 8 43|50 | 15| 36| 6

51991827

g}gg:ggg 40 |14 |23 | 23|68 |35|30| 8 153 10 53|63 |20 45 | 8
Allowable | Clamping . :

pariomver - [CH B R R et N iR

:}gg}ggg 228M4x07/43| 27 QLCADS 100 | 800 | e 134

glgglggg 28.5M5%08 53| 34 QLCA08| 150 | 1,500 | A9 57,

**) Allowable load to operate the handle

14.16 | OML

How To Operate

1. Unclamped
Load a workpiece.

2. Arm Swing
Turn the handle to set the arm in position.

3. Clamping
Set the handle down to clamp the workpiece.



Performance Curve

Clamping Force(N)

1600

1400

1200

1000

800

600

400

200

QLSWC150

QLSWC100

20

40

60 80

Operating Load (N)

100

120 140 150

Technical Information

Allowable Loads in Machining of
Workpiece Bottom

Ensure that any force more than stated below is not

applied.

Workpiece

Max. Force ﬁ

Series

Fixture Plate

Allowable Force to Workpiece Bottom (per Clamp)

QLSWC100

max.2,300N

QLSWC150

max.3,600N

OML | 14.17




SWING CLAMPS (Mini) FOR TORQUE CONTROL

Body / Washer / Flange Nut / Spindle

Material

S45C steel

Finish

Black oxide

Heat treat

Quenched and tempered

Material

Arm
SCM440 steel

Finish

Black oxide

Heat treat

Quenched and tempered

* Designed for clamping-force
control with a torque wrench

« Screw clamping mechanism
allows for longer clamping stroke
and greater clamping force.

Rough

Finished

Surface Contact ~ Surface Contact 3

S

How To Operate

Flange Nut

Turning the flange nut allows the arm
to swing into position for clamping.

Warning

Do not use a power tool(impact wrench etc.) to turn
the flange nut, for damage prevention.

Performance Curve

d
, ] i d
R < £ 1 é
T 8 ‘ Spindle
o o ] g ! 3 3
£ \
5 c
(@]
Clamping Height *) Clampin
=T AN ol A Finished Surface Contact | Rough Surface Contact bStro‘I)(eg A B C D E
Min. Max. Min. Max.
22.8 248 22.4 24.4
51991830 (22.8-25.8) | (24.8-27.8) | (22.4-25.4) | (24.4-274) 3 29110 ) 18 | 18 1525
313 33.3 322 34.2
51991831 (31.3-35.3) | (33.3-37.3) | (32.2-36.2) | (34.2-38.2) 4 3914 ) 23| 23 1695
*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.
51991830 26 22 6 11.5 8 43 8 36 6 22.8
51991831 35 30 8 153 | 10 5.3 10 45 8 28.5
Clamping Allowable Weight
Part Numb R S T U Screw Torque
art umber Force(N) (N.m)q (9)
51991830 |M4x0.7 | M5%0.8 43 27 2,300 6 94
51991831 |M5x0.8 | M6x1 5.3 34 3,600 10 210

14.18 | OML

4000
~ 3500
3000
2500
2000
1500
1000
500

Clamping Force (N

RLSWC-06

LSWC-05

0 2 3 456 7 89 10
Screw Torque(N.m)




OML | 14.19

=Y}
Z N

APPLICATION EXAMPLES

Fixturing with Swing Clamps(Mini) with Cam Handle

Fixturing with Swing Clamps(Mini)




Rough
Surface Contact

Spindle

Material

S45C steel

Finish

Black oxide

Heat treat

Quenched and tempered

Material

Arm / Joint

SCM435 steel

Finish

Black oxide

Heat treat

Quenched and tempered

Material

Cam Handle

SCM440 steel

Finish

Black oxide

Heat treat

Quenched and tempered

Clamping Stroke

Finished
Surface Contact

Clamp
Starting Position

Recommended

©
S, Clamping Position

£
£
&)
Clamping Height *) )
Part Number Finished Surface Contact Rough Surface Contact CISatr:;ng 2;2?!
Min. Max. Min. Max.
32 40 35 43
51991832 (31.5-32.5) (39.5-40.5) (34.5-35.5) (42.5-43.5) ! 15
37 48 42 53
51991833 (36.4-37.6) (47.4-48.6) (41.4-42.6) (52.4-53.6) 1.2 18

*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.

ABCDEFGHJKLMNPQ
51991832 | 45 | 10 25,5/ 25| 16| 50 | 89| 42 | 32 | 26 | 22| 18| 20 | 11 |55
51991833 | 55|12 (32 | 31|20 |63 |109] 52|40 |32 |28 | 22|25/ 14 |66
OO - [ < [+ [compered vasn ool cow T v
51991832 | 8|24 | Méx1 | QLCA-05 | 100 700 | gcan | 244
51991833 | 10 |30.5\M8x125 QLCA-06 | 150 | 1,100 | M9 | 4eg

**) Allowable load to operate the handle

14.20 | OML

QLRE RETRACTABLE CLAMPS (Mini) WITH CAM HANDLE

Body / Spindle

How To Operate

1. Unclamped
Load a workpiece.

Arm Pivot

2. Clamping Setup
Set the arm in clamping position holding it
at the arm pivot.

3. Clamping
Set the handle down to clamp the workpiece.

For unclamping, follow the above steps back.




Performance Curve

1200
1000
800

z

[0

)

s 600

(o]

£

Q

£

kS

© 400
200

QLRE150

QLRE100

60 80 100 120

Operating Load (N)

140

150

Technical Information

Allowable Loads in Machining of
Workpiece Bottom

Ensure that any force more than stated below is not

applied.

Workpiece

Max. Forceﬁ

.

Fixture Plate |

Allowable Force to Workpiece
Part Number Bottom (per Clamp)
51991832 max.5,000N
51991833 max.6,000N

APPLICATION EXAMPLES

Fixturing with Retractable Clamps (Mini) with Cam Handle

OML | 14.21




QLRE

RETRACTABLE CLAMPS (Mini) WITH ADJUSTABLE HANDLE

Rough
Surface Contact

Spindle

Clamping
Height

Clamping
Stroke

Body / Spindle

Material |S45C steel

Finish |Black oxide

Heat treat|Quenched and tempered

Arm / Joint

Material|[SCM435 steel

Finish [Black oxide

Heat treat|Quenched and tempered

+ Screw clamping mechanism
allows for longer clamping stroke
and greater clamping force.

Finished
Surface Contact

™

Clamping Height *) Clampin
=Pl N1 i Finished Surface Contact| Rough Surface Contact Stroieg A B C D E
Min. Max. Min. Max.
32 40 35 43
51991834 | 35995 | 40-375) | (35325) | (3405) | 22 | 40| 10285 25 116
37 48 42 53
51991835 (37-33.5) | (48-44.5) | (42-38.5) | (53-49.5) 35 95 | 12/ 321 311 20
*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.
51991834 47 86 42 32 26 22 18 20 11 55
51991835 63 109 52 40 32 28 22 25 14 6.6
Adjustable | Allowable Operating | Clamping | Clamping | Weight
Part Number R S T u Handles Load (N) **) Force(N) | Mechanism (9)
51991834 8 | 24 | M6x1 | 40 |FKF6-BR 170 2,400 242
Screw
51991835 10 |30.5|M8x1.25| 65 |FKF8-BR 210 4,200 490

**) Allowable load to operate the handle

14.22 | OML

How To Operate

1. Unclamped
Load a workpiece.

Arm Pivot

2. Clamping Setup

Set the arm in clamping position holding it at the
arm pivot.

3. Clamping
Set the handle down to clamp the workpiece.

For unclamping, follow the above steps back.




Performance Curve Technical Information
Allowable Loads in Machining of
Workpiece Bottom
4500 Ensure that any force more than stated below is not
QLRE-08 applied.
4000
3500
Workpiece
3000
2500 Max. Force ﬁ
=3
jg QLRE-06
£ 2000 4
[o2]
£ Fixture Plate
£
5 1500
© Allowable Force to Workpiece
Part Number
Bottom (per Clamp)
1000 QLRE-06 max.5,000N
QLRE-08 max.6,000N
500
0 20 50 80 110 140 170 200 210
Operating Load (N)

APPLICATION EXAMPLES

Fixturing with Retractable Clamps (Mini) with Adjustable Handle

OML | 14.23




WORK SUPPORT WITH CAM HANDLE

Body How To Operate

Material | S45C steel
| Finish | Black oxide

Piston

Material | SK4 steel
Finish | Black oxide
Heat treat | Quenched and tempered

Locking Pin

Material | S45C steel
Finish | Black oxide
Heat treat | Quenched and tempered

Handle

Material | SCM440 steel
Finish | Black oxide
Heat treat | Quenched and tempered

* The clamping direction can easily

be changed. 1. Unlocked

No workpiece loaded

Air Outlet
Q
m| I —
Recommended
Locking Position
The drawing shows
P-For Hex. Socket-Head clockwise clamping.
Cap Screws

(¢ ) 2. Workpiece Loading
Load a workpiece, and the piston lowers.

Stroke
‘S
m
\
-
o
g
3
Q
m
>
Q.

Part Number A B C D E F G H J K L M N

51991836 52 |25 |24 |29 |10 |14 |19 |15 | 8 |36 | 8 |40 | 14
51991837 58 [ 30 |29 |35 |12 |18 |22 |18 |95 |39 | 10 | 50 | 16
51991838 75 | 38 | 37 |45 |16 | 283 | 256 | 24 |12 | 51 |12 | 63 | 19
51991839 85 | 45 | 42 | 52 | 19 | 26 | 30 | 28 |145| 56 | 15 | 80 | 24

am Handies | Alowable Operating| SPP | E5000 | | oeking. | Weight
anales owable Operating . pring 0cCKing elg
Part Number | ¥ @ PartNumber | Load (N) *) Cafﬁ)cny Fg\rﬁe Mechanism|  (g)
51991836 M4 | M5x0.88deep | QLCA-04 80 500 | 0-6 213
51991837 M5 | M6x110deep | QLCA-05 100 700 | 0-6 | Spiral Cam 335
51991838 M6 [M8x1.25 15 deep| QLCA-06 150 900 | 0-7 |CamAngle:4’ 738
51991839 M8 |M10x 1.5 15deep | QLCA-08 200 1,200 | 1-11 1,110 .
3. Clamping
*) Allowable load to operate the handle Turn the handle to lock the piston.

14.24 | OML




Adjusting Handle Locking Position

Ensure before use that the handle comes to the recommended position when the piston is locked, by adjusting the height of a support tip.

Support Tip

Y |

Hex. Nut [V

Changing Clamping Direction

Loosen the hex. socket setscrew to remove the retaining pin. Turn the handle upside down and put it in position again.

Unlocking Position

° )
@ ﬁ & @
Before Change / x After Change

(Clockwise Clamping) (Counterclockwise Clamping)

Socket Setscrew

The built-in disc spring prevents loosened locking.

Piston Disc Spring

Spring

OML | 14.25




MARKER PLATES

Material: Aluminum

Black Text

Red Plate

0.5mm thick

Pressure sensitive adhesive on the backside,
Two 2mm-dia. holes allow for riveting.

How To Use [ |

Use to mark the handle position in the clamping mode.

Part Number

51991147

14.26 | OML




CAM HANDLES

Material |[SCM440 steel

Finish |Black oxide Installing the cam handle
Heat treat |Quenched and tempered
Ring Nut / Washer
Material [S45C steel Brass Pad

Finish |Black oxide
Heat treat |Quenched and tempered

‘ Use a brass pad and a hex. socket
K PA setscrew included.

Application Example

L-Hex. Socket Setscrew

Brass Pad

Unclamping Position
|
+ -
oH A-A
Bottom
Part Number A B C D E F G H J
51991858 40 10 4.5 14 12 8 12 12 2
51991859 50 12 5.5 16 14 10 15 14 2
51991860 63 14 6.5 19 16 12 18 16 3
51991861 80 18 9 24 20 15 22 20 3
Allowable Operating | Clamping | Clamping | Weight

P N2 K L Stroke Load (N) *) Force(N) | Mechanism| (g)
51991858 | M4x0.7 [M3x0.5-3L| 1.8 80 900 26
51991859 | M5x0.8 |M3x0.5—3L| 2.3 100 1,300 Spiral Cam 46
51991860 | M6x1 M4x0.7—4L| 2.7 150 2,600 Cam Angle:4® 80
51991861 | M8x1.25 |[M4x0.7—4L| 3.3 200 4,000 154

*) Allowable load to operate the handle

OML | 14.27




QLSC

SIDE CLAMPS(Standard)

With Handle

Without Handle

Base

S45C steel
| Quenched and tempered |

Material
[Finish

Material | SKH51 steel

[Finish | Quenched and tempered |

Material | SK4 steel

[Finish | Quenched and tempered |

Material | S45C steel

[Finish | Black oxide |
Ball Knob

Material | ABS resin

[Finish | Black |

How To Use

The long mounting holes allow adjusting the clamping
range. Tightening the hex. socket setscrews in the
base front allows preventing the clamp from sliding
back in the clamping mode.

Hex. Socket Setscrews

2(Clamping Range) L-For Hex. Socket

Head Cap Screws

1 1

Unclamping Position
(

o -

(Throw)

2(Clamping Range)

il
ﬁ

J @f

\ f
Hex. Socket Setscrew S B

Dimensions of Jaw Base
|

Tl ;71
< — |
il
F/ B
E| D
|
9) -
Size A|B|C|D|E F
QLSC150| 12 |10 6 6 |4 [Mdx0.7 7 deep
QLSC200| 16 |14.5] 10 | 8 | 6.5 [M6x1 9 deep

Size A B C D E F G H J K L P
QLSC150 30 42 7 | 12 45 35 12 19 [125 4 M5 31
QLSC200 40 62 10 16 65 50 16 28 | 185 5 M8 4

" Clamping | Clamping

= K s Force(N) | Mechanism
QLSC150 26 | M4x0.7-10L 3000 Spiral Cam
QLSC200 | 38 | M4x0.7-15L 4000 Cam Angle:4

With Handle Without Handle
Allowable Operating Weight Weight
Part Number| M N Load (N) %) @ Part Number (@
51991125 69 | 20 150 210 51991127 185
51991126 | 104 | 25 200 580 51991128 530

%) Allowable load to operate the handle

14.28 | OML

Note: The handle
must be ordered separately,

Edged Jaw




QLPU PUSH CLAMPS(Standard)
m Application Examples

[Finish | Quenched and tempered |
Material | S45C steel Downthrust Clamping
[Finish | Quenched and tempered | /
Material | S45C steel
[Finish | Black oxide |
Ball Knob
Material | ABS resin O
[Finish [ Black |

With Handle Without Handle

Push Clamp

Unclamping Position Downward Clamping

(Throw)

oo
So E(Across Flats)
= = H o %)
o8& | L Piston
< % +— = = —T
! [ X
‘ $C 4G
#B
Sideways Clamping @)
> — . - Push Clam
. amping| Clamping
Series | A |B|C (P.CD) 5| F e 3 s Force(N)| Mechanism

QLPU150 | 25 |25 |23 | 16 |10 |1.7|M4x0.7 6 deep|M4x0.7 6 deep|15 1237 12| 3000 |Spiral Cam
QLPU200 | 32 |32 |30 20 |13 |25 /Méx! 9 deep M6x! 9 deep|19.5/135° 15 4000 |Cam Angle:d”

With Handle Without Handle
Allowable Operating|Weight Weight
Part Number| J N Load (N) ¥ (g) Part Number (g) \ll\/hlfnﬂinsta‘”ing 3 tlp on the pLStton' :
lock the piston using a wrench to preven
51991129 | 20 | 695 150 180 51991131 [ B0 the clm from ecching any fore
: The handle
51991130 | 25 103 200 370 51991132 | 310 it be ordered separately. | Note : See page 151 and 154 for performance curves.

) Allowable load to operate the handle

OML | 14.29




QLSL STANDARD HANDLES

How To Use

QLSL

Screw-In Handles

Plug-In-Handle Adaptors

Material | S45C steel

[Finish | Black oxide
Ball Knob
Material | ABS resin
[Finish | Black | Secure the Plug-In Handle to the Adaptor using
the locking screw if necessary.
QLSL-RL A

Plug-In Handles

Hex. Socket Setscrew(Pointed) |F

Material | S45C steel

[Finish | Black oxide
Ball Knob

Material | ABS resin
[Finish | Black

Plug-In Handle Coupled with the Adaptor

Size A

QLSL150 59
QLSL200 89

QLSL-RA

Plug-In Handles
adaptors
e - QLSL (Screw-in Handles)

o Weight
F Jea Part Number| A | B |C | D| E o
Material | SCM440 steel
[Finish | Quenched and tempered 51991135 59120 8| 5 M5x0.8 30

51991136 | 8925 |10 | 6 | M6x1 60

QLSL-RL(Plug-In Handles) QLSL-RA(Plug-In-Handle Adaptors)
Part Number| A| B |C |D|E| F W?;%ht Part Number| A |B|C|D|E| F W?ég)ht
51991137 |51 |20 |13 | 6 | 11 |M5x0.8-5L| 45 51991139 | 8 |10 8 | 6 | 5 | M5x0.8 7
51991138 (79 |25 15| 8 | 13 |[M6x1 -6L| 90 51991140 |10 (12 /10| 8 | 6 | M6x1 14

Performance Curves

QLSL150 Handles side Clamps QLSL200 Handles side Clamps

Push Clamps Push Clamps
300Q 400

270G 360

320

280
Pull Glamps

240

200

160!

Pull Glampss
——

600 800
/ Swing Clamps

400
L= /
20 30 60 90 120 150 30 50 100 150 200

Swing Clamps

120

Clamping Force (N)
Clamping Force (N)

Handle Operating Load (N) Handle Operating Load (N)

14.30 | OML




ADJUSTABLE-TORQUE HANDLES

QLTL(Screw-In Handles)

QLTL-RL(Plug-In Handles)

QLTL-RA(Plug-In-Handle Adaptors)

Material | SCM440 steel

[Finish__ [Quenched and tempered |

Material | S45C steel

[Finish _ [Black oxide |

Material | S45C steel

[Finish _[Quenched and tempered |

H

B

QLTL-RL(Plug-In Handles)

Hex. Socket Setscrew K

B

Hex. Socket Setscrew G

QLTL-RA(Plug-In-Handle Adaptors)

G

®

s ®
! \ Locking Nut

QLTL (Screw-In Handles)

Part Number| A | B | Cc | D | E| F |G |H| J K W’(eé%ht
51991141 | 895) 60 | 13 | 185] 65| 8 | 12 | 55 | M5x0.8 | M5x0.8-16L| 90
51991142 [119 | 84 | 15 [23 [ 8 | 10 | 14 | 65 [Mexi | Mext -20L] 140
QLTL—RL(Plug-In Handles

Part Number| A | B | C | D | E F G W(e;‘-i’ht
51991143 | 80 | 60 | 13 | 6 | 11 | M5x0.8-5L| M5x0.8-16L] 70

51991144 [ 107 | 84 | 15 | 8 | 13 |Mext -6L| Mext -20L| 130

QLTL—RA (Plug-In-Handle Adaptors)

Part Number| A | B | Cc | D | E| F |G |H| J K W‘(eé%h"
51991145 | 245| 6 | 13 | 185] 65| 8 | 10 | 55 | M5x0.8 | 6 20
51991146 |30 | 7 | 15 |23 [8 |10 [ 12 | 65 [Mex1 | 8 40

Plug-In Handle Coupled with the Adaptor

Part Number A
51991143
51991145 | 1040
51991144
51991146 | o

How To Use

Turning the setscrew inside the handle
allows adjusting the torque to set
a desired clamping force.

Load-Setting Distance ‘
]
Y

Hex. Socket Setscrey/

Handle

[Operating-Load Setting Range]

QLTL120/QLTL120-RL : 30N to 120N
QLTL160/QLTLT160-RL : 50N to 160N

Note : Ensure that the operating load is not
set below the lower limit to prevent the
handle from returning to the unclamping
position due to shock load generated
during the transfer of machine pallets.

Y

Operating
Load

The desired clamping force is reached
when the handle folds approximately 15°
See page 154 for the information on
operating load vs. clamping force.

) Horizontal
Folding
Locking Nut

: Ensure that the handle is
set to fold horizontally.

Plug-In Handle Installation

Plug-In Handle

Note : When installing the adaptor.
ensure that the mating face
is set horizontally.

When coupling the handle with the adaptor.
ensure that the handle has full contact
with the adaptor's mating face. Secure

the handle to the adaptor using the locking
screw if necessary.

OML I 14.31



Performance Curves
Pull Clamps (QLPD150)

1000

900 Clamping Force
Z 800
D 700
13)
S 600
=L
5 500
©
O 400
—
. 300
Load Settmg 200 Hamdle Operating| Load
Distance o5 120
100
30/35/5—/70

‘V? ° o5 1 2 3 4 5

Hex. Socket & Load-Setting Distance (mm)
M@ ~1 Adjustable-Torque | when clamping force is 900(N). load-setting distance
Handle is 5Bmm, and handle operating load is 120N.

Swing Clamps (QLSW150)

100G

900
> 800 Clamping Force
B 700
O
5 600
=T
<5 500
®©
O 400
—
300
200 Handle Operating Load
120
100 53
3033 — 5 70
05 1 2 3 4 5
Load-Setting Distance (mm)
Side Clamps (QLSC150)
Push Clamps (QLPU150)
350
300 Clamping Force
£
— 250
()
O
—
O 200
L
3 150
(@]
—
1004
500! Handle Operating Load
0 30 |35 50 70 95 120
05 1 2 3 4 5

Load-Setting Distance (mm)

Note : The above performance curves apply when clamps are degreased.

14.32 | OML




Pull Clamps (QLPD200)
3000
S 2500 Clamping Force
’?8 2000
|-
o
(i
5 1500
©
e}
— 1000
500 Handle Operating Load
50 70 100 1510 e
° o5 2 4 6 8
Load-Setting Distance (mm)
Swing Clamps (QLSW200)
140
120 Clamping Force
£
’CT) 100
o
L-',? 800
ke]
© 600
e}
|
400
200 Handle Pperating |Load
100 130 160
50 04—
°os 2 4 6 8
Load-Setting Distance (mm)
Side Clamps (QLSC200)
Push Clamps (QLPU200)
450
400 Clamping Force
=z
<= 350
8 300
| -
L 250
B 200
e}
— 150
100
500 Handle Pperating [Load
50 70 100 130 160
% 05 2 4 6 8
Load-Setting Distance (mm)

Note : The above performance curves apply when clamps are degreased.

OML | 14.33




I £PPLICATION EXAMPLES

Clamping Pins
QLPD200-8x8

Pull Clamps

et

Pull Clamps
QLPD200R

Swing Clamps
QLSW200R

s

Swing Clamps
QLSW200L

Side Clamps

g A

Adjustable Miniature Stops
BJ211-08001

Side Clamps
QLSC150R

14.34 | OML



APPLICATION EXAMPLES

Actual Applications of Swing Clamps

OML | 14.35




SPRING-LOADED WORK LOCATORS

Standard

Accurate

Material

S45C steel

Finitura

Black oxide

Heat Treat

Quenched and tempered

Locating Pin

Material

SK4 steel

Heat Treat

Quenched and tempered

Mounting Hole Dimensions

C-Hex. Socket Head

¥ Cap Screw
mal B
| M ]\cpﬂo

Spring-Loaded
Work Locator

]

d)HG dA 2-C
1
| \ ! \
: | ‘
- 1 tP{O- o i %V =
A? ‘ [olo slA oM i
| Air Outlet \ / | %z
AL oL
z N
: Ay : A
< | § Series ) Bl cC
w 51991521
o (©)] § 51991522 15
5 51991525 | (H7-effective depth: ) 16 |M4x0.7
3 { 51991526
¢C 51991523
Standard Accurate Section A-A M( ,20 10 21 |M4x0.7
51991527 H7-effective depth: 10
51991528
Standard
Part Number [ A B (gC6) D E F G H J K L M
51991521 35 6
~ 51991522 | 13 15 15 | 75 6 15 | 35 | 25 16 | 45 45 7
51991523 55 9
" 51991524 | 18 20 20 10 8 20 40 30 22 45 75 1
Locating Hole | Support Capacity | Weight
Part Number | N Dia. %) (N) 0
51991521 $381t0 ¢ 52 45
51991522 | 74 248 1o 6 62 6.4 t0 19.3 45
51991523 #58to ¢ 8.2 95
51991524 | °° [ 47810 9102 | 005 [ o
Accurate
Part Number |,fo0l B | (| D | E [ F Lo | H | g | K |[L|W
51991525 | 15 15 15 7.5 6 15 35 25 16 45 85 6
51991526 ' ) 45 7
51991527 55 9
51991528 | 20 | 20 | 20 10 8 20 | 40 | 30 | 22 | 45 75 | 11
Locating Hole Support Capacity | Weight
51991525 $3.81t0 ¢ 5.2 50
51991526 | >4 | gagr0pe2 | 40193 50
51991527 $5.8 to ¢ 8.2 100
51991528 | ° | 47810 102 | 0005 [y

¥)Within these diameter limits, locating holes can be chamfered up to Tmm x Tmm,

14.36 | OML




How To Use

~
m
<t
3 o —
m o .m - |
g 2 2 2
o S = o
2 > s
5 g
o =]
/N 2 c
— g fo.rg
. ko] = Ol )
s} e o 7
AN, L Ve
= % 2o s
E= S 5
2 v X% 3
o
<]
<
= -
2 g
=2 5 >
8 o £
= j-
[ m [oN
w %)
g km 2z
o
3 £ = 2
< = ®
ko £ o s
> a2 o) e
= wnnm © (9]
5 g2 3 ©
8 g s 9
0] T + | [0]
o Co | o)
] ol @ c
= <
8o ~| T 8
D& ol o -
Olm o
o +
£ £
b H—1
. s ie)
N T\ p E
@ ) >
/ \ o} ) ) c ©
\ R g L ,, = 2
AN o AN +
/SN 2 2 il g, AN &
\“@§§§§§ o = gl@\ “ 2
O e £ > \ ) ) e
Y g £ =
\\ P % mnnU % — z
=+ 0 ° N/ Ao 2
PR~ & 22 8 %'_ @..ﬁ’l ot
s e |e o) ) 2\
WD MW AVl \/’—/ o
£3 32 p A\ 5
33 28 \I-‘UWWWQ z
382 = -
5 3 TR E
VA = :
g Mw / \ 2
5 2. &) ) ) ) 3
2 g8 ) o
o > g o
o bt = ©
£ @8 <
; Chy _
o © 353 a
=L 0
) o ®©© S
@ 325 S g
35 £53 c5
] R ged =8
S8 > =8 o)
TR IR Iy 4 hwlm =
.nlumdkw oo o]
5553 5. N
oléz g £2¢




CP700

WORK LOCATORS

14.38 | OML

How To Use
Material | S45C steel
Finish | Black oxide Present Method
Heat Treat | Quenched and tempered
Material | SCM440 steel
Finish | Black oxide
Heat Treat | Quenched and tempered
Material | SC45 steel
Finish | Black oxide
Ball Knob
Material | ABS resin
Color Black Galling and damage caused
3-N-For Hex. Socket Retracting End
Head Cap Screws @
Our Method
@,
g No galling caused
©
o
2
% ¢8 ———0lo.04]A] The locating pin gets projected only after
T -2C. U-Hex. Socket Head Setscrew [ the workpiece is set on supports.
m O | This allows loading and unloading
. the workpiece smoothly. with no galling.
: ‘ | "’l Get the locating pin projected to locate
\ the workpiece after it is roughly positioned
< ‘ with the help of locating guides.
= B
i i b4
—’t L | T | |
‘ \
L © e :
G PE ]
¢H Projected Mode
Retracted Mode
PartNumberABCD(E6)FGHJKLMNP
9 (G7) (P, G D) Projected Mode
51991529 48 112 120 134 |28 12| 8 |60 |10 |17 | 5 |46 |[M5| 71
51991530 61 115130148 142 |14 |12 |80 1 13 123 | 7 | 63 | M6 | 94 <= Workpiece Centering
Allowable Operating | Max. Workpiece| Weight m .
Part Number | Q /RS T U Load(N)$) | Weight(kg)s%) (kg) Pn Gets
rojecte
51991529 | 20 [100] 13 | 5 | M4x0.7-5L 150 250 0.42 T !
51991530 25190 | 15| 8 | Méx1 -8L 200 300 1.04 ! .1 ) ) o
%) Allowable load to operate the handle l.Rough Locat.mg With  2.Pin Projection 3.Complleted
¥¥)Max, weight that allows the locating pin to project and provide workpiece centering Locating Guides Locating




CP701 EXTENDABLE WORK LOCATORS

How To Use

Material | S45C steel Extended Application

Finish | Black oxide
Heat Treat | Quenched and tempered

i Ly
Ma_t(_erlal SC45 stgel Fox Sooket Setsarew Adjustable
Finish | Black oxide 2 with Brass Pad - (custom-mad

§ir=
‘ T (custom-made) -EF‘ ‘
With an extension shaft and a shaft holder
prepared separately, the handle control can

be easily done even when small space is
available under the workpiece.

Locating-Pin Mounting

Locating Pin
(custom-made)

3-L-For Hex. Socket
Head Cap Screws i

Hex. Socket Setscrew

Projecting End

Projected Mode

The handle position can be changed freely,
clockwise or counterclockwise.

A locating pin can easily be mounted by using a hex.
socket setscrew when the piston is fully projected
(locating pins must be prepared separately).

set between the workpiece
and the locating guides.
When the taper angle

is determined to be smaller
than 30° (recommended),
set the clearance smaller.

°
(@]
o
@
o
(o)
£
i3]
9
8 o o OTTARY
g R-Hex, Socket . . . .
m 3 ‘ OH Head Setsorew Locating-Pin Head Dimensions
ngT ~ [TE— -
b o 3 S
= :
< 7 *rj:*ﬁ‘ Ot —‘—/ A
A i Wi [ | A *133 | x| 12 or less
- %33 I % < ‘ 15 or less
. = T Determine the dimensions
\ \ 3 S
w : : marked with an asterisk
© \ $ considering a clearance

o g |

Projected Mode

E G K Features
Part Number | A | B | C | D (96) F @7 H | J (?CD) L{M|N
g _ -Can support heavy workpieces made from steel

51991533 | 48 | 12 |20 | 50 |28 |12 | 8 |22 |27 | 38 |[M5|65 | 40 | 14  or cast iron
51991534 | 61 | 15|30 | 65| 42 | 14 | 12| 26 | 31 | 52 | M6 |87.5 65 | 16 .y 100ls needed

Adjustable |Alowable Operating | Max. Workpiece |Weight -Different locating pins can be mounted depending
Part Number | Q R S Handles Load ()¢) Weight(kg)#t) | (kg)  on workpiece's locating holes.
51991533 5 | M4x0.7-5L | Méx1 12 deep |FKR6X10-BR| 170 250 0.59 ;. iston stays locked when it is fully projected
51991534 6 | M5x0.8-8L | M8x1.25 17 deep [FKR8X15-BR| 210 300 1.31  or retracted until the handle is operated again.

%) Allowable load to operate the handle
*¥)Max. weight that allows the locating pin to project and provide workpiece centering

OML | 14.39




RISER BLOCKS

- T [Bodyl]
G e Material:FC300 cast iron
ey Annealed
i Precision ground
® @ o [Alignment Bushing]
Material:SUJ2 steel
© o o Heat treated
® _ [Threaded Insert]
v @ @ Material:S45C steel
Heat treated
|
Q +1 4+ 4
3=k
\ | \
‘+ a 1 ol 43\
55+0,04 | | A-Dia. MTP Holes
T
40 —L[0 02/300 [B]
For B-Dia, Locating Screws™ g 0@ |Al  A-Dia, MTP Holes
001
()
ERREIERS
M o
DM
1 S
|
G)
1To.o/Am A D NIRRT E
ol o001 | o B
ol ool
|
1
g@@ﬁ\ For B-Dia, Locating Screws
=2
|
& ©1© 9
|
A B C D No, of No, of Proper Locating Screws |Weight
Part Number I T - ad)l (1) [c00):0@)| | MTP Holes| Mounting Holes Cod. (kg)
51991535 160 | 210 15 10 26
751991536 12 Mi2x1.75 | 12 210 | 260 148 o1 14 51991863 37
51991537 160 | 210 15 10 25
L 51991865 e
51991538 | 16 M6 | 16 [T Togy | 148 [ 5 14 36

*MTP-hole protection plugs and eye bolts are included.
-Locate on a tooling plate or block using Locating Screws.

*MTP holes spacing : 50 * 0.02mm

14.40 | OML




o : [Body]
-— _ Material:FC300 cast iron
Annealed
Precision ground
. ‘ [Alignment Bushing]
L) Material:SUJ2 steel
‘ . Heat treated
~ [Threaded Insert]
Material:S45C steel
Heat treated
Al | 4
so0
— _|_ —
[N
[
A
50 20 —g 00l A
Q.01
! Q) .
ks i S ol
ToHoT 3 Q - - +H ¢ o1
S N® 9 j}h@‘
I f [ [
(©)) %
G) §(G) O 001 |
+
1 oo [A . 125200 0.0l
d 001 /1 o B
001
For C-Dia. Locating Pins For B- Socket-Head Cap Screws
BE|
—] _|_ —
el
o]
@)
% 50+0. 02 37.5+0 04
Part Number A B (FC7) V\éig)ht
51991539 M12x1.75 M12 12 6.3
51991540 M16x2 M16 16 6.2

-Locate on a tooling plate or block using a round pin and a diamond pin.

OML I 14.41




14.42 | OML

BJ633 H RISERS

85 A
50 19
© RG)
< R
| _ 7 ~ L —
88 —f-—-—1- =
BN )
=M= [ ;
R | M
| |
! For B- Socket-head
Cap Screws
\ \
(|
[Bodly] #H / M &
M Material : FC300 cast iron %Y e
W Annealed
B Precision ground
[Threaded Insert]
B Material : S45C steel L]
HMHeat treated | ZI
| i |
| |
A Weight
Part Number (+0.01) B © D (kg)
51991543 100 3.2
51991544 105 | W6 Miex2 | 18 38
BHow To Use
BJ530 BJ130 BJ112
Hook-Clamp Holder Hook Clamp Screw Side Clamp
) (used as stop)
R i
| |
e . | BJE33
: . A H Riser
| | | | |
-[—| | | | @q;@ | | | |
— R A

Use to raise a workpiece or components, parallel to a tooling plate.




BJ634

H RISERS

135 A
0 50 19
‘ (G) (G)
== e [ e R =
SN — \\ ,,,,,, L ;
[Body] B \7 " j;i ] e
W Material : FC300 cast iron R Léi; - I 1
B Annealed -/ | | N\ I
M Precision ground 4\ L | L /
[Threaded Insert] For B- Socket-head
W Material : S45C steel C Cap Screws
B Heat treated
i i
‘ @]
| | ¢
\ \
| | |
A Weight
Part Number (+0.01) B C D (kg)
51991547 100 5.1
51991548 15| M6 MiEx2 | 16 gy

OML | 14.43




SHEVOGIY T ) V BLOCKS

B Material : S45C steel
BMHeat treated
MBlack oxide finish

M Precision ground

BJ440-08032

250,01
45

25

i

For M8 Socket-head 25+0,01

Cap Screws

BJ440-08040

I
|
+0.01
45

=

For M8 Socket-head
Cap Screws

“@ i’* S
Wwa
| &
N o ‘ N o
} G) |
‘ T
Locating | 2 Locating ‘ <
Bushing ~ I Bushing ~ -
(G)% $8.5 (G)% $8.5
| 1 ¢ 12h6 | $12h6
Part Number ’ sl
min. max, (9)
51991549 10 25 200
51991550 15 50 370

14.44 | OML




B Material : S45C steel
HMHeat treated

HBlack oxide finish

M Precision ground

BLOCKS

I

®

8.

[ | E?)L 8

()
e

| For B-dia

&5 Locating Screws

<
8 L
D; (G)
50
B C
Part Number A F7) Min. Max D E F
51991551 63 1 15 80 M12x1.75 2 34.72
51991552 75 100 30 deep 39.65
51991553 63 16 35 80 M16x2 o5 34.72
51991554 75 15 100 35 deep 39.65
Proper Locating Screws | Weight
Part Number Cod. (kg)
51991551 2.9
51991552 51991862 33
51991553 2.9
51991554 51991864 33

OML | 14.45




BJ770 METAL PROTECTION PLUGS

51991556 51991555
Part Number Thread W&i’?ht
51991555 M12 15
51991556 M16 20
57290020 D16/M12 18

-Replacement protection plugs.
-Use to keep chips and dirt out of unused MTP holes.

BJ701 HIGH PRECISION LOCATING SCREW

# A

Ll
K 4 L -

Material:SCM435 steel

Heat treated

Black oxide finish

Precision ground
Part Number| A" B clp | e | F G H nght
5199 18 66 23 | 45 | 57 52
5199 18 62 12 33 55 | 67 | 18 | 10 M12x1,75 | 22 59
5199 18 63 43 | 65 | 77 68
5199 18 64 40 | 65 | 81 134
% - 0,005

-0,013

14.46 | OML




[A]
Y/ 8/
2
§’ —] { ol &
£ )
12
34 L1
L
Part Number Dgs L L1 V‘?f(ig)ht
57001051 25 77 34 0.81
57001052 40 87 44 1.12
57001053 50 87 44 1.36

B CENTERING PIN FOR ALIGNING HOLE

oo [a]
ivd %/

o - i a
e
=
12
L1 40
L
Weight
Part Numb D D1 L L1
a umbper g6 g6 (Kg)
57001061 25 20 75 35 0.23
57001062 30 20 85 45 0.34
57001063 30 35 85 45 0.40

OML | 14.47




CP106

TOE CLAMPS

Material:S45C steel
:Black oxide
Heat Treated

Finish

For Hex. Socket Head Cap Screws

Section A-A

Part Number| A | B | C |D |E | F | G (r?) JlKk|Lm gfé“ep'(”,% ‘\T"g:zfube'e(ﬁﬁﬁ)w W(eég)ht
51991557 | 35| 25| 61245/ 15| 3 | 10| 6] 7|M8|16] 10| 7.000 25 100
51991558 | 43 |30 | 8129 [19] 4 |12] 6| 7 m10[2 | 11| 8500 50 185
51991559 |54 | 35| 9137 | 23| 5 | 16| 810 |M1223] 12| 20,000 % 320
51991560 | 65 | 40 | 10 45 | 25| 6 | 20| 10| 10 [m16[ 32| 14| 40,000 200 520
How To Use and Install

¢ H +0.1

‘ o | +0.05

-Drill a cap-screw hole and a locking-pin
hole as specified.
-One flat washer is included.

14.48 | OML




SIDE CLAMPS

Material: S45C steel
Finish :Black oxide
Heat Treated

K-For Hex. Socket Head Cap Screws

‘11

S
o
(XXX
XXX
R
l‘l’l‘l’l
(-
L

X7
o

%
XX
X
o
X

X7
o

%
XX
X
o
X

%
%
X
oK
0
2
LRRERIK
C

%%
R
SN00999.
XXX
XXXXARK
KRR
KRR
__F___::ﬁ_J
L PR —
E

'
"
XX
X
“
0

I
5
b
0
K
K
K

G Section A-A

Part Number| A [ B | C |D | E | F | G (r|j7) JIKILIM g?c“;p‘(”h% Aﬁmﬂe(ﬁ?ﬁ)w ng)ht
51991561 | 32 | 25 | 25 |21.5/15| 3 |10 6| 7 M8/ 16]10] 7,000 25 115
51991562 | 40 |30 |32 26 | 19| 4 | 12| 6| 7 Mi0[2 | 11] 8500 50 | 225
51991563 | 50 | 35 | 38 33 | 23| 5 | 16| 8|10 IMi2[2.3] 12| 20,000 0 | 39
51991564 | 60 | 40 | 45 |40 | 25| 6 | 20| 10| 10 IM16/3.2] 14| 40,000 200 | 640

How To Use and Install

-Drill a cap-screw hole and a locking-pin
hole as specified.
+One flat washer is included.

¢ H 181&5

o

OML | 14.49




CP100 SIDE CLAMPS

[Body]
Material: S45C steel
Finish : Black oxide
Heat Treated

[Arm]
Material: S45C steel
Finish : Black oxide

[Jaw]
Material: SKH51 steel
Finish : Black oxide
Heat Treated

S-Ball Thumb Screw

N

OF
=l

Y

o
s ;

pd

T-Hex. Socket-Head Setscrew,

14.50 | OML




Part Number | A B © D E F G H J K L M
51991565 62 | 22 40 14 20 3 14 | 3 251032 12 | 14 8.5
51991566 78 | 25 50 18 25 4 18 | 3.7 [32t0 40 16 | 175 | 11
51991567 93 | 32 60 21 30 5 21 45 |40 to 48] 20 | 20 13
51991568 124 | 38 | 80 | 28 | 40 6 27 | 6 148to63] 25 |26 | 17

Clamping | Allowable Screw |Weight

P Nmioe? . R < U Force (N) | Torque (N'm) | (kg)
51991565 5 | 14 75.5 |M 8x1.25-20L | M4x0.7-8L 6,000 15 0.23
51991566 7 [ 175 ] 95 |M10x1.5-25L | M5x0.8-10L 10,000 30 0.41
51991567 8 | 2 113 | M12x1.75-30L | M6x1-12L 17,000 65 0.75
51991568 10 |28 151 | M16x2-40L | M8x1.25-16L | 25,000 130 1.57

Spare jaws
Cod.
51992035
_ 51992038 g, page 14.95
51992042
51992044

How To Use and Install

Hex. Socket-Head Setscrew

Clamping Space

Smaller clamping space allows clamping a larger workpiece.

The hex. socket-head setscrew works to prevent the clamp from
sliding back if screwed in until it contacts the cap screw.

Hex. Socket Head Cap Screw

Fixture Plate

OML | 14.51




CP101 SIDE CLAMPS

[Body]

Material: S45C steel

Finish : Black oxide

[Arm]

Material: S45C steel

Finish : Black oxide
Heat Treated

[Jaw]

Material: SKH51 steel

Finish : Black oxide

Heat Treated

P-Ball Thumb Screw

D Washer x 2
N
LT
{?y e a1 |
! 1 ]

R-Hex. Socket-Head Setscrew

14.52 | OML




Part Number| A B © D E 7 G H J K L

51991569 40 50 40 20 6 35 10 53 | 12 21 8.5
51991570 50 65 50 25 8 45 12 7.1 16 27 | 11
51991571 60 70 60 30 10 50 15 8 20 31 13
51991572 80 90 80 40 15 65 20 | 102 | 25 39 | 17

Clamping | Allowable Screw | Weight
Part Number| M N B2 R Force (N) | Torque (N-m) (kg)
51991569 32 62.5 | M 8x1.25-35L | M4x0.7-10L | 11,000 25 0.33
51991570 40 74 | M10x1.540L | M4x0.7-12L | 18,000 50 0.66
51991571 48 91 M12x1.75-50L | M5x0.8-15L 25,000 90 1.06
51991572 64 | 115 M16x2-60L M6x1-20L 46,000 200 2.38
Spare jaws
Cod.
51992035
_ 51992088 g, page 14.95
51992042
51992044

How To Install

Hex, Socket-Head Setscrew "\ Hex. Socket-Head Cap Screw

The hex. socket-head setscrew works to
prevent the clamp from sliding back if
screwedin until it contacts the cap screw.

-Two flat washers are included.

OML | 14.53




CP102

WIDE-JAW SIDE CLAMPS

[Body]
Material: S45C steel
@ B Finish : Black oxide
o [Arm]
(=5 Material: S45C steel
Finish : Black oxide
Heat Treated
[Jaw]
Material: SKH51 steel
Finish : Black oxide
Heat Treated
(SOWIVEL) J-For Hex. Socket
\‘B’Tkl' 5° Head Cap Screws

@)

I s S S .
= N-— { m E- P [TEIR ! : Y
L | Y e RS 5} RSt
! ! e R
1 ®) et j0 I 1 V! !
! 3 I i i
A {mmiie D iR
1 ] ARSI
N-Hex. Socket-Head Setscrew ! A !
Part Number| A | B | c|D|E|F |G |H|J|K]|L M N Part Number I%?é?epl(rl]\% Aﬁg:”qzkﬁe(ﬁ?ﬁﬁ)w V\éﬁg;’t
51991573 | 45 | 45 | 40 | 30 | 25 | 53| 12 | 31 [M 8] 32 |625| M 8x1.25:35L [Max0.74L 51991573 | 11,000 25 055
51991574 | 55 | 55 | 50 | 40 | 30 | 7.1 | 16 | 39 [M10] 40 |74 |M10x15 -40L [Max0.74L 51991574 | 18,000 50 1
51991575 | 65 | 65 | 60 | 45 | 35 | 8 | 20 | 47 |Mi2] 48 |91 |Mi2x1.75-50L [M5x0.85L 51991575 | 25,000 % 1.69

How To Use

The jaw swivels to fit an unmachined surface of the workpiece.

14.54 | OML




[Body]
Material: SCM440 steel
Finish : Black oxide
Heat Treated
[Jaw]
Material: SCM440 steel
Finish : Black oxide
Heat treated on edge
Serrated Ground
A
%
5 S — - wam
L-For Hex. Socket /
Head Cap Screws
| _ | < |
Lo Ly d |  Serrated
‘I“ 1 1T 1T 1 [»I‘ ﬂ O
| | |
L‘TW‘"‘TJ LT*‘TTJ Ground
Serrated Clamping | Allowable Screw |Weight
Part Number AIBICIDIEIFIGIHIJIKILIM Force (N)| Torque (N'm) | (g)
51991576 [39.5| 65| 7.5(25 |45 |16| 7|15 7| 4 M 8/ 25 4,000 8 160
51991578 |60 | 8510 |40 /6022|122 9| 6 M12 35 9,000 26 450
51991580 [77 |100(14 |50 70|30 14/2 [13]| 8 M16/40| 17,000 60 900
Ground Clamping | Allowable Screw |Weight
Part Number soE LD B E A S Force (N)| Torque (N:m) (9)
51991577 |39.5 65| 7.5(25 45|16 7|15 7| 4 M 8/ 25 4,000 8 160
51991579 [60 | 85/10 |40 |60 22|12 |2 9|6 M1235 9,000 26 450
51991581 [77 10014 |50 7030|1412 |13]| 8 M16/40| 17,000 60 900

OML | 14.55



CP105

SIDE CLAMPS

Serrated

Ground

[Body & Jaw Carrier]
Material: SCM440 steel
Finish : Black oxide
Heat treated
[Jaw]
Material: SCM440 steel
Finish : Black oxide
Heat treated on edge

L-For Hex. Socket
Head Cap Screws

y—

b
O /gg
A, / //
N N T
! | | ! /|
I OECE LT,,‘,,TJ © i ] |  Serrated
l ‘ -
I
Ground
Serrated alslclolelrlalulylklL|m| Clamping |Alowable Screw| Weight
Part Number Force (N) | Torque (N'm) | (g)
51991582 [39.5) 65(19.5/25 45|16 | 7 |1.5| 7| 4 M 8/ 25 4,000 8 180
51991584 |60 | 85129 40|60 (22122 | 9| 6 M12 35 9,000 26 500
51991586 |77 100138 | 50170130 |14(2 |13 8 M16/40| 17,000 60 1,010
Ground Clamping |Allowable Screw | Weight
Part Number| A B|C|D[E|FIGIHIJ ) KILIMIp o (N) | Torque (N'm) | (g)
51991583 |39.5| 65(19.5/25 45|16 | 7 (1.5] 7| 4 M 8/ 25 4,000 8 180
51991585 |60 | 85129 | 406022 |12(2 | 9| 6 M12 35 9,000 26 500
51991587 |77 100138 |50 /70130 |14(2 | 13| 8 M16/ 40| 17,000 60 1,010

14.56 | OML




BJ101 ADJUSTABLE TOE CLAMPS

[Body]
Material:FCM440 steel
Heat treated
Black oxide finish

[Sliding Nose]
Material:SCM440 steel
Heat treated (on edge)
Black oxide finish
Precision ground or serrated

Serrated Ground
A
D E
| | )
L U | - >f@ I 1l
| | /
Washer,

8 Kg/( L Q} — | Serrated

— ) o

Serrated Weight
Part Numpber | A~ | B | ¢ | D | E | F | G| HJ Kl L | Mg
51991588 72| 25 | 75 1455|165 | 16 7 114 | 85| 4 7 115 | 150
51991590 105 | 35 |10 |65 |265| 22 | 12 | 20 | 13 6 9 |2 400
51991592 137 | 40 |14 1895130 30 | 14 | 26 |17 8 13 12 830
Ground Weight
Part Number | A | B | C | D | E e w5 X L (9)
51991589 72| 25 | 75455165 | 16 7 | 14 | 85| 4 7 | 15 | 150
51991591 105 35 |10 |65 [265) 22 | 12 | 20 | 13 6 9 |2 400
51991593 137 | 40 |14 |895 |30 30 | 14 | 26 |17 8 13 12 830
Part Numb When Used Singularly When Used with Slide Stop Weight
art Tumoer Clamping Force (N) | Allowable Screw Torque (Nem) | Clamping Force (N) | Allowable Screw Torque (Nem) | (g)
51991588
51991589 3,600 6,5 4,000 8 150
51991590
51991501 | 7,400 19 10,400 26 400
51991592
" 51991503 | 11,700 32 24,000 60 830

OML | 14.57




BJ102

ADJUSTABLE SIDE CLAMPS

[Body & Jaw Carrier]
Material:FCM440 steel

Heat treated
Black oxide finish

[Jaw]

Heat treated
Black oxide finish

Material:SCM440 steel

Serrated Ground Precision ground or serrated
A
D E
| |
— 1 —- ——‘— -—— | M
\ \ \ Y.
Washer
< >
£ p
| © LT
\ y 4 | |
il B —
’ O S | |
e ( LT,,L ,,,,,,,,,, @ ! LL|  Serrated
‘ F ! T T } |
\ T /
| >
1
| P T
@ ‘ @ B ( L D | Ground
\ T / ; |
Serrated Weight
R A B C D E F G H J K L M @
51991594 72 | 25 | 195|455 165 | 16 7 14 85| 4 7 115 160
51991596 105 | 35 |29 |65 [265 | 22 12 | 20 |13 6 9 | 2 440
51991598 137 | 40 | 38 89.5 | 30 30 14 26 | 17 8 13 12 920
Ground Weight
Part Number A B C D E F G H J K L M )
51991595 72 | 25 | 195|455 | 165 | 16 7 14 85| 4 7 115 160
51991597 1056 | 35 |29 [65 [265 | 22 12 | 20 | 13 6 9 | 2 440
51991599 137 | 40 | 38 89.5 | 30 30 14 26 | 17 8 13 12 920
Clamping Allowable Screw Weight
ISRl Force (N) *) Torque (Nem) *) (@)
51991594
51991595 3,600 6,5 160
51991596
51991597 | 7,400 19 440
51991598
51991599 | 11,700 32 920

Note *) The stated values are effective when used singularly (not mounted on a serrated adaptor).

14.58 | OML



ADJUSTABLE TOE STOPS

[Body]
EMaterial : FCM440 steel
M Black oxide finish

[Jaw]
BWMaterial : SCM440 steel
M Heat treated
MBlack oxide finish
MPrecision serrated

Serrated

Washer

L Serrated

PartNumber| A | B | C | D | E | F | G| H | J|K Wfég)ht

51991600 | 60 | 25 75 | 335 | 165 | 16 7 14 | 85 | 15 | 120
51991601 | 90 | 35 | 10 50 | 265 | 22 9 20 |13 2 330
51991602 | 115 | 40 | 14 67.5 | 30 30 13 26 |17 2 660

Note *) The stated values are effective when used singularly (not mounted on a serrated adaptor).
- Stop that mounts on a BJ500. Rack Block to prevent backslide.

OML | 14.59




BJ202 ADJUSTABLE SIDE STOPS

Part Number| A B Cc D E F G H J K @)

51991603 | 50 25 | 195|235 | 165 | 16 7 14 85| 15 100
51991604 | 75 35 |29 |35 265 | 22 9 | 20 |13 2 310
51991605 | 95 40 | 38 | 475 ] 30 30 13 | 26 | 17 2 625

Note *) The stated values are effective when used singularly (not mounted on a serrated adaptor).

- Stop that mounts on a BJ500, Rack Block to prevent backslide.

14.60 | OML

[Body]
EMaterial : FCM440 steel
MBlack oxide finish
[Jaw]
EMaterial : SCM440 steel
WHeat treated
WBlack oxide finish
MPrecision serrated
Serrated
A
D E
| | ‘ 1 N\
| &1 = —
Washer
? 1 | | |
; ‘ | T A
? : © i L‘ ,L ,,,,,,,,, i ‘rl Serrated
i 1 | |
'
Weight




C For G- Socket-head
E Cap Screw
I
1 7@ %g% Il %6% D
F H
EWMaterial : S45C steel K ’ 3
EBlack oxide finish - ‘ ‘ ‘
Y| | <
Zi V] o

Part Number| A | B | c | D | E| F | G H J V"(‘iig)ht

51991606 16 7 Throudh 0.13

51991607 | 20 | 9 N 047

51991608 25 | 13 0.21

51991600 | 32 | 20 | 0 | 25 | 25 | 125 | M8 |M 8x1.25 . ool

51991610 40 | 28 0.33

51991611 50 | 38 0.42

51991612 20 5 0.34

51991613 25 | 10 Through|  0.45

51991614 | 32 85 | 35 | 50 | 20 | M12|M12x1.75 0.57

51991615 | 40 | 12 30 | 07

51991616 50 35 0.9

51991617 25 6 Throuah 0.46

51991618 | 32 | 13 I 062

51991619 | 40 90 | 40 | 50 | 25 | Mi6 | Mi6X2 30 | 078

51991620 50 | 15 35 0.98

51991621 63 1.24

HHow To Use
BJ101

Adjustable Toe Clamp

Serrated riser that prevents BJ101/BJ102 clamps

and BJ201/BJ202 stops from slipping backward.

OML | 14.61




CP110

BLOCK PUSH CLAMPS

[Body]

Material: S45C steel
Finish : Black oxide

[Piston]

Material: S45C steel
Finish : Black oxide

Heat Treated

[Knurled Knob]
Material: S45C steel

CP110
(Cap Screw Style)

CP110 Finish : Black oxide
(Cap Screw Style)
A
N-Mounting Hol 2 E ‘
-Mounting Holes E/Z‘ ‘

P-Hex. Socket Head

@VQ@V Cap Screw

L C 1 49
Roll-Pin Holes

00

[ -

Part Number ABCDEFGHJ(ETLMNP R S| T|U
-0.3
51991622 35 |24 1 95/ 75(20 | 26 | 14| 8|14 10 |2 7 IM5|M8x1.25 [M5x0.8 8Prof. 4 | 24 | 14
51991623 45 129 |12 |10 [ 25 |35 |16 [ 10 |18 | 12 |2 8 |[M6|M10x1.5 |M6xt 10Prof.| 4 | 24 | 14
51991624 55 131 |15 [125]30 | 40 | 18 |12 |20 | 14 | 25| 8 |M 8|M12x1.75 |M 8x1.25 12 Prof.| 6 | 30 | 17
51991625 70 | 37 (18 |15 | 40 1 50 | 20 | 16 | 25 | 19 | 3 8 | M10 M16x2 M10x1.5 15 Prof.| 8 | 36 | 20
Cap Screw Style
Clamping| Allowable Screw |Weight
Part Number Force (N)| Torque (N'm) | (g)
51991622 6 200 10 160
51991623 11000 22 340
51991624 20 000 48 540
51991625 37000 121 1050

14.62 | OML




How To Use CP112 CP110
Block-Push-Clamp V-Pad Block Push Clamp

58990201
Fixed V-Block

CP112 MOVABLE BLOCK PUSH CLAMP V-PADS

C For J-Hex. Socket

Head Cap Screw

Material: S45C steel ‘
Finish : Black oxide w
Heat treated

Part Number | A | B | C (E?)] E|lF |G| g | bt

0 min, | max (9)
51991630 | 38 | 19 | 16 | 10 | 15 | 35 | 92| 15 | 60| M 5 65
51991631 | 50 | 24 | 19 | 12 | 15 | 45 |11 | 20 | 80| M 6| 125
51991632 | 65 | 32 | 22 | 14 | 2 | 55 |15 | 25 | 100 | M 8| 250
51991633 | 75 | 38 | 25 | 19 | 25 | 75 | 187 | 30 | 120 | M10 | 390

CP112 FIXED V-BLOCK PUSH CLAMP

For F-Hex.Socket
Head Cap Screw B
S D
L1 -
W
- (s S
Material: S45C steel [~ *- \ .
Finish :Black oxide I mr@ S,
Heat treated

H Weight
min | max | (Kg)
58990201 38 | 25 | 16 8 8 M6 | 15 | 60 0.09
58990202 50 | 35 [ 19 | 10 10 | M8 | 20 | 80 0.19
58990203 65 | 40 | 22 | 12 12 |M10] 25 | 100 | 0.30
58990204 75 1 50 | 25 | 20 15 |[M12] 30 | 120 | 0.52

Part Number | A B C D E F

OML | 14.63




BJ112 REVERSE SCREW SIDE CLAMPS

For A- Socket-head Cap Screws

SN

zj}E_l

z —|-—-CF

4

[Body]
B Material : S45C steel
MBlack oxide finish

[Screw]
B Material : SCM435 steel
MHeat treated
HBlack oxide finish

Part Number | A B C|D|E|F|G|H|J|K|L|M W(f(ig;“
51991634 | M8 |M8x12550L] 18 | 7 | 55 | 45 | 30 | 20 | 3 | 20 | 45 | 25 | 045

51991636 M16 | M16x2 -80L| 27 10 90 75 50 33 5 33 85 50 23

M Application Examples

ce

Y

Casting Surface Casting Surface Casting Surfa
Y ’/ 4
~. .

BJ112 g

Reverse Screw N
ide Clamp o~

,//’ ~//
2/ Screw Jack 2/‘ Miniature Jack
Casting Surface Casting Surface

Machined Surface

14.64 | OML




HOOK CLAMPS

Material:SCM435 steel
Heat treated M- Hex

Socket-Head Cap Screw

Black oxide finish
Precision ground #B_HG)

-Use with a BJ530 Hook-Clamp Holder.

How To Use

(Reference)
M8 Size M10 Size M12 Size M16 Size
# 1885% % 2000 0% P 2510 0o # 326 22
C ‘ : ! | b)
J i ‘ ‘ ‘ ¢
; | NE |9
‘ |
== T | |
S | ® * \
M8x1. 25 A e | 9
MIOx1.5/ | | |

MI2x1. 75/ T M16x2

Hook Clamps can be plugged directly into custom
blocks with receiving holes as specified above.

PartNumber | A | gy | C | D | E | F |G | H| J|K L M e I
51991637 20 15 38 90
51991638 | 25 | 18 | 37 | 58 | 22 | 10 | 23 | 12 - - M8x1.25 - 50L 33 95
51991639 30 20 30 105
51991640 | 30 | 5 | 54 | 75 |24 |12 |30 | 15 201 _ - M10x1.5 - 65L 38 200
51991641 | 40 25 32 210
51991642 | 40 66 16 60 280
51991643 | 50 | 25 | . | 92 |32 |18 |39 | | 25| - - M12x1.75 - 80L 50 310
51991644 60 46 350
51991645 | 40 66 16 31 60 280
51991646 | 50 | 25 | oo | 92 |32 |18 |39 | 7| 25 [38 | M12x1.75 | M12x1.75-80L 50 310
51991647 | 60 46 46 350
51991648 | 40 170 420
51991649 | 50 | 32 | 75 (101|136 |22 |39 | 21 | 25 | — - M16x2- 85L 150 470
51991650 | 60 130 530
51991651 | 50 38 150 470
el | go | 32|75 101|368 |22 |39 | 21|25 20 M12x175 | Miexe- 85 I P

OML | 14.65




HOOK CLAMPS WITH SPRING

wl m - - (@]
I~
o)
&
M- Hex. Socket-Head o
Cap Screw — £
[ ! 3
I S £
\ T e
Materia:SCM435 steel i ] O
Heat treated | ‘ | . 1
Black oxide finish }
Precision ground ‘ L
T (|
<X z|
|
|
‘ -
| L
T
Part Number | A B © D B F G H J K L
51991655 30 22 10 35 22 12 10 68 | 19 20 M 8x1.25
51991659 40 16 107
51991660 50 32 18 50 36 15 30 25 M12x1.75

51991661 | 60 18 109

51991665 40
51991666 50 | 36 | 22 | 50 | 36 | 21 15 | 116 | 30 | 25 | Mi6x2
51991667 60

Part Number M N Clamp(|r'1\gl;)F0rce A#g:gsie ('S\‘CI:]\)N W(eégght
51991655 M 8x1.25-30L 6 6,700 20 135
51991659 13,500 450
51991660 M12x1.75-45L | 10 12,600 45 480
51991661 11,700 520
51991665 13,400 630
51991666 Mi6x2 -55L | 10 12,400 60 680
51991667 12,000 740

14.66 | OML




HOOK CLAMP HOLDERS

?C_

Material:S45C steel B
Black oxide finish

Part Number| A | B (,_97) D|E|F| G Ho | J |t W?ég)ht
51991671 | 55| 74| 18 | 25 | 22 | 24 |M 8¢1.25 |M 8¢1.25 | 20 | 30 140
g:gg:gzg gg 1?3 20 | 30 | 30 | 32 |M12¢1.75 |M10x1 5 2; 40 %
g:gg:gg 138 1;8 25 | 40 | 36 | 40 [M121.75 |M12x1.75 | 25 | 50 %
g:gg}gg 138 };g 30|40 | 46 |50 [MiB2  |MiB@ |25 | 80 %

¥) The above screw torque values are effective for istallation of Hook Clamps.

How To Use

BJ130
Hook Clamp

\ BJ530
Hook-Clamp Holder

BJ6OO
Riser Cylinder

Holder that is specifically designed to receive a
BJ130 Hook Clamp.

OML | 14.67




RISER CYLINDERS

Material: SCM435 steel (Mini)

Heat treated(Mini)
Black oxide finish

S$45C steel(Standard&heavy)

Part Number | A | B | ¢ | D E F W‘(zg)ht
51991678 32 | 5 105
51991679 20 | 59 135
51991680 50 | 69 170
51991681 65 | 84 | 2| X (MBAD 20
51991684 50 | 80 480
51991685 65 | 95 640
51991686 80 | 110 | 36 | 40 |Mi2d75 | 35 | 780
51991687 | 100 | 130 980
51991688 | 125 | 155 1,230
51991691 50 80 770
51991692 65 | 95 1,000
51991693 80 | 110 | 46 | 50 |Mi6x2 35 | 1,230
51991694 | 100 | 130 1,540
51991695 | 125 | 155 1,920

14.68 | OML




ADJUSTABLE STOPS

A-Adjustment Screw

THEOE

(For Mini) J

[Body]
Material:S45C steel
Black oxide finish

[Adjustment Screw]
Material:Steel
Heat treated
Black oxide finish

5
|

0

S | I
I
Il
I
L

-

For G- Socket-Head /

Cap Screw

Part Number | A B|C|D|E|F|G|H]|J W(eght

51991698 |M8x125 | 32 | 25 | 20 | 40 | 21 | M8 7 50 95
51991699 |Mi2x1.75 | 50 | 40 | 32 | 60 | 36 |Mi2 | 12 | 100 500
51991700 | M16x2 63 | 50 | 40 | 80 | 46 | Mi6| 14 | 100 | 1,200

-Side stop that offers three options of screw height.
-Can also be used as auxiliary clamps.

OML | 14.69




BJ211 ADJUSTABLE MINIATURE STOPS

Heat treated

Black oxide finish

Material:S45C steel

=

For G- Hex, Socket Screw

7‘&
=
\J

Part Number | A | B | C | D | E F G W‘(’g)ht
51991213 | 40 | 56| 48 | 40 | 13 |M 8x1.25 |M 8x1.25 | 60
51991214 | 50 | 70 | 60 | 50 | 17 |Mi0x15 |Mi0x15 | 120
51991215 | 60 | 84| 72 | 60 | 19 |Mi2x1.75 |M12x1.75 | 190
51991216 | 80 | 112 | 96 | 80 | 24 M1 |Mi6x2 | 410

Application Examples

BJ130

Hook Clamp

BJ530

Hook-Clamp Holder

Support

\BJ21 1
Adjustable Miniature Stop

Miniature size allows use in small space,

Knurled Nut

L —

=

BJ211
Adjustable Miniature Stop

)

Can be used as auxiliary clamps.

14.70 1 OML

Extension Bolt




BJ214 SCREW STOP BUTTONS

H-Hex. Socket-Head Setscrew

J-Hex. Socket-Head Setscrew
(with brass pad at the end)

Material: S45C steel ::::j,‘;::,(_\,
Finish :Black oxide E S U B - m
Heat treated :::::::F:::::f L O
— —
|
| )
|
c ==

Part Number | A | B | C | D | E | F | G H J |Weight

(9)
51991701 30 [ 13 7 10 | 19

M 8x1.25 |M 6x1 M5x0.8-12L 40
51991702 40 | 165| 85| 12 | 22

M10x1.5 |M 8x1.25 |M5x0.8-12L 75
51991703 50 |21 | 11 15 | 24

N [© [0 (N

M12x1.75 [M10x1.5 |M6éx1 -20L | 120
51991704 60 |23 |12 20 | 30 Mi6x2  |Mi12x1.75 [Méx1 -20L | 210

—_

How To Use

J-Hex, Socket-Head Setscrew
(with brass pad at the end)

-

%) Minimize this clearance
when installing.

Installation Information

1. Screw in the body completely.

2. Screw back the body and set the adjustment screw.

3. Tighten up the hex. socket-head setscrew to lock
the body.

-Use to stop a low-profile workpiece.

OML I 14.71




BJ360

COMPACT WORK SUPPORTS

How To Use

BJ360
) Compact Work Support

Extension Bolt

2 #A L,
<
& ¢B
v |
+ J-Socket-Head Ball Screw
= |
[Body] o T
Material: S45C steel N 5
Finish :Black oxide 77[ e
[Piston1 = ] Knurled Thumb Knob
Material: SK4 steel B H
Finish :Black oxide
Heat treated Note) The socket-head ball screw is glued to the knurled thumb knob.
Part Number | A B C D E F G H J K
51991148 15 6 18 5 3 16 | 13 | M 8x1.25 | M4x0.7-16L | 16
51991149 19 8 22 6 4 20 | 17 | M10x15 M5x0.8-20L | 20
51991150 2 | 10 | 25 24 | 19 | M12x1.75 |[M6x1 -25L | 24
Piston Spring| Support Capacity| Weight
P RMeer | by Force (N) (N) (g9)
51991148 | 132 1.5 10 3.0 200 36
51991149 | 16.3 | M4x0.7-6L 18 10 30 300 72
51991150 | 22.3 ' ' 400 150

14.72 | OML




Application Example
= @ ; A
1 ‘ For N- Socket-Head [ — —--— i~
| F r_ﬁ. Cap Screws T ?
. Hex. Nut N
P @@ - m BJ350
Work Support
M3 Cheese Head Screw ~ L > % E E
[Body] | #E |
Material:S45C steel M- Ball Thumb Screw — r Ideal for preventing the workpiece
Black oxide finish i from chattering and deflecting.
[Pll\s/lgqcz]riaI:SK4 steel w ol © 'The positive Iocking_ mechanism offers

Heat treated ‘ o high support capacities.

Black oxide finish L -The above support capacity values
are reached when the ball thumb screw
is fully tightened.

Part Number A B @ D E F G H J K
51991152 38 19 29 35 12 15 15 17.6 13 8
51991153 50 22 37 47 16 20 20 21.1 16 10
51991154 65 25 42 52 19 25 20 24.6 18.5 15
51991155 75 32 47 57 25 30 27 283 | 25 15
Support Piston Spring|Weight
PR oz - ) N Capacity (N) | Force (N) (9)
51991152 M 6x1 10 deep |M 6x1 -16L] M 6 4,000 Oto 6 150
51991153 M 8x1.25 15 deep [M 8x1.25 -20L| M 8 6,000 Oto 7 285
51991154 M10x1.5 15 deep |[M10x1.5 -25L| M10 7,500 1to 11 480
51991155 M12x1.75 20 deep [M12x1.75 -30L| M12 9,000 1 to 11 800

BJ351

WORK SUPPORT CYLINDERS

[Body]
Material:S45C steel
Black oxide finish
[Piston]
Material:SK4 steel
Heat treated
Black oxide finish

H-Across

2 Flats Hex. Wrench - ==
A-f T ; A]f
T M-Socket-Head Cap )
*ﬂw Setscrew '
o F 2A
#B

[
Al e+
Air Outlet 7

J-Mounting Screw

Section A-A

o |
L-Ball Thumb Screw ‘ ‘ ‘ K

To install, insert a hex. wrench through the piston
into the mounting screw.

Application Example

Ideal for preventing the workpiece
from chattering and deflecting.

-The positive locking mechanism offers
high support capacities.

-The above support capacity values
are reached when the ball thumb screw
is fully tightened.

Part Number A B C D E F G H J K
51991156 28 14 33 39 10 13.1 22.2 4 M 6x1 M 6x1 12 deep
51991157 35 19 42 52 14 17.2 275 5 M 8x1.25 M 8x1.25 16 deep
51991158 42 22 50 - 14 23.8 34 6 M 10x1.5 M 10x1.5 20 deep
51991159 50 26 60 70 16 28.1 421 8 M 12x1.75 |M 12x1.75 24 deep
51991160 60 33 70 80 22 26.6 47.4 10 M 16x2 M 16x2 32 deep

Part Number L M Support capacity (N) Piston Spring Force (N) Weight (g)
51991156 M 6x1 -16L M4x0.7 - 8L 4.000 10 ~ 22 150
51991157 M 8x1.25 -20L M4x0.7 - 8L 6.000 10 ~ 27 300
51991158 M 10x1.5 -25L - 7.500 14 ~ 28 540
51991159 M 12x1.75 -30L M5x0.8 - 12L 9.000 15~ 30 865
51991160 M 16x2 -30L M5x0.8 - 12L 9.000 15~ 35 1390

OML | 14.73




CP300 EXTENDABLE WORK SUPPORTS

[Body]
Material: S45C steel
Finish : Black oxide

[Piston & Locking Pin]
Material: SK4 steel
Finish : Black oxide

Heat Treated

[Spindle]

Material: S45C steel
Finish : Black oxide
Heat Treated

[Piston Plug]

Material: S45C steel
Finish : Black oxide

[Knob]

Material: FC200 cast iron
Finish : Chrome plated

A M
M3x0.5-5L Retaining Screws K H
H/Z‘
YO D
oo — ) —— T 2
Yo Q
# P Hand Knob
¢ G
_PF
w ]
—
| |
1IN I
S ph
11/ -
| o o

V-Hex. Socket-Head Setscrew/

Turning the hand knob clockwise lets the locking pin move upward
and turning it counterclockwise lets the locking pin move downward.

14.74 | OML




Part Number A|B|C | D/ E|F|G|H|J|K|L|M|N|P|R|S

51991709 8040 | 31 |40 4 |16 |25 |40 | 25 |10 | 18 | 22 |32 |55| 8 235
51991710 95,50 39|50 | 5 |20]32]50|30|10|23|25)|40 65| 9 |28
51991711 115160 [ 47 | 60 | 6 | 24 |38 |60 |40 15128 32|50 |9 |12 355

portumber | T | 0 [ v ] S e e
51991709 M 8x1.25 12 deep |M 8x1.25 | M4x0.7-10L 700 1 0.82
51991710 M10x1.5 15 deep |M10x1.5 M4x0.7-10L 800 1.5 1.52
51991711 M12x1.75 18 deep |M12x1.75 | M5x0.8-16L 900 2 2.67

Note : The stated values of both "Support Capacity” and "Allowable Screw Torque” are based on the
manual operation of the hand knob.

How To Use

Cohventional Method

Cumbersome height adjustment with a wrench ‘

1
Limited positioning area %‘;‘rj L

Extendable Work Support Method

Easy height adjustment with a hand knob
Flexible positioning

Hand Knob

Support Tip (custom-made) /yﬁ\

Extention Spindle Spindle Holder
(Custom-made) (Custom-made)

-Connecting an extention spindle allows adjusting the part height with ease.
-Provide a tapped hole for the extention spindle for connection, as specified in chart above,

OML | 14.75




SCREW JACKS

[Body]
Material:S45C steel
Black oxide finish
[Bolt]
Material:SCM435 steel
Heat treated
Black oxide finish

E B . A _
F
F
S
N 1 -
- G
Load Capacity | Weight
Part Number | A B C D E F G (N) @
51991712 40 | 10 350
51991713 5 | 20 | 30 | 40 | 36 | 30 |[Mi2x1.75 31,800 420
51991714 70 | 40 570
51991718 50 | 20 430
51991719 70 | 40 30 | 40 | 36 | 30 |Mi6x2 31,800 580

SCREW-JACK TIP

Heat treated

Material:S45C steel

Black oxide finish

430
|
C T "
| o
R30 ‘
# 1096

Weight
Part Number (@
51991722 50

14.76 | OML




BJ331 MINIATURE JACKS

How To Use

G
[
S R === )

S
T
Hex. Nut \
BJ331

Material:S45C steel \Rest Pad Miniature Jack
Heat treated

Black oxide finish
Hardness:RC33 - 39

Fem e -

Part Number| A | B | C D E F G Wt(egg)ht
51991161 37| 6 T
51991162 6 43| 12 6 | 25 | 13 | M 6x1 m
51991163 45 | 8 | 40
51991164 8 oy qe | 7| 30| 17 |M&125 i
51991165 58 | 10 | e0
51991166 10 g [ | 8| 40 | 19 |MiOx5 s
51991167 72| 12 10
51991168 12 ga [ g | 10| 50 | 24 | Mi2x175 120
51991169 89 | 16 | a0
51991170 16 5 | 3o | 13| 60 | 30 |MI16x2 25

How To Use
Screw
Support
A /_EL
B
. 3C % .
ol \ g | L[] D
D |\ EfAcross 2 Flats) %
BJ332

Material: S45C steel Jack Screw
Finish : Black oxide

Part Number | A B C D E E G W(eég;ht
51991173 30 | 20 20
51991174 40 30 13 5 13 | M 8x1.25 |M 6x1 6 deep 25
51991175 38 | 24 45
51991176 48 | 34 17 6 17 | M10x1.5  |M 8x1.25 8 deep 50
51991177 51 | 33 %5
51991178 66 48 22 7 22 | M12x1.75 |M10x1.5 10 deep 10
51991179 62 | 40 185
51991180 77 55 27 10 27 | Mi16x2 M12x1.75 12 deep 210

OML | 14.77




BJ333

SMALL SCREW JACKS

How To Use

A C
- @ ] :7 s
- G
Material: S45C steel
Finish :Black oxide
Part Number| A | B | C | D | E | F G H Wﬁgg)ht
51991181 40 | 10 55
51991182 50 | 20 12 16 13 13 | M 8 x1.25 M 6x1 6 deep 70
51991183 50 | 10 110
51991184 60 | 20 14 | 20 17 17 | M10x1.5 M 8x1.25 8 deepi135
51991185 65 | 15 220
51991186 80 | 30 19 | 24 | 22 | 22 | M12x1.75 [M10x1.5 10 deepi275
51991187 80 | 15 460
51991188 95 | 30 24 | 32 | 27 | 27 | M1i6x2 M12x1.75 12 deepi555

BJ333
Small Screw Jack

Screw

Support

BJ601

SMALL RISER CYLINDERS

Material: S45C steel

|
\e

How To Use

BJ333

Small Screw Jacks

BJ6O1

Small Riser Cylinders

Finish :Black oxide
Part Number| A | B | C | D| E | F W?g)ht Part Number| A | B | C | D| E | F W?g)ht
51991180 | 32 | 44 18 | 45 51991201 | 50 | 69 160
51991190 | 40| 52 55 51991202 | 65| 84 200
51991191 | 50| 62 70 51991203 | 80 | 99 255
51901192 | 65| 77| ° | 18 MEIB 5 [Ty 51991204 | 100 | 119 | 22 | 24 [W2KL75) 80 [ o0g
51991193 | 80| 92 115 51991205 | 125 | 144 415
51991194 | 100 | 112 145 51991206 | 160 | 179 540
51991195 | 40| 54 23 | 8 51991207 | 50| 74 32 | 280
51991196 | 50| 64 105 51991208 | 65| 89 350
51991197 | 65| 79 145 51991209 | 80 | 104 430
51991198 | 80| oa| /| 20 MIOXIS | o0 g 51991210 | 100 | 124 | 2 | 32 [WBR% | 4o [0
51991199 | 100 | 114 230 51991211 | 125 | 149 715
51991212 | 160 | 184 935

14.78 | OML




BJ300 SUPPORT CYLINDERS

®B

P

<
Material:S45C steel
Heat treated
Black oxide finish
Precision ground N
Hardness:RC39 - 45 ’
(G)

For C- Socket-Head Cap Screw

Part Number (i('?O]) B C D W(egl’g);ht
51991723 16 7
51991724 2 58
51991725 % 7
51991726 3 % M8 ! 89
51991727 10 110
51991728 50 136
51991729 20 97
51991730 2 120
51991731 3 151
51991732 10 82 M10 S 186
51991733 50 229
51991734 63 287
51991735 20 7 160
51991736 2 200
51991737 32 260
51991738 40 12 330
51991739 50 40 M12 120
51991740 63 530
51991741 80 660
51991742 100 22 840
51991744 25 8 350
51991745 32 390
51991746 40 5 500
51991747 50 5 e 630
51991748 63 810
51991749 80 1,000
51991750 100 3% | 1260
51991751 125 1,600

OML | 14.79




REMOTE-CONTROL UNITS

=
H-Stroke M-Hex. Socket Screw
2 o w <
oK
Material: S45C steel
Finish : Black oxide
L-
[
777
I LR =
= @)
o
Short
Part Number A B C D E E G H J K
51991752 32 12 22 16 20 30 48 4 12 55
51991753 32 12 27 19.2 20 34 57 4 15 55
51991754 44 16 32 222 30 45 76 5 18 9
51991755 44 16 36 25.2 30 50 86 5 20 9
Work Supports |Weight| Recommended Distance between
ranAumBer (RN ol BJ 350 (g) | Work Supprt and Remote-Control Unit A
51991752 5 M 6x1  -35L 51991152 75 66
51991753 6 M 8x1.25-40L 51991153 100 81
51991754 8 M10x1.5 -55L 51991154 210 103
51991755 10 M12x1.75-60L 51991155 250 121
Tall
Part Number A B C D E F G H J K
51991756 32 12 26 20 20 30 48 4 12 55
51991757 32 12 33 25.2 20 34 57 4 15 55
51991759 44 16 49 38.2 30 50 86 5 20 9
51991760 44 16 54 43.7 30 50 86 5 20 9
Work Supports|Weight| A:Recommended Distance between
e Numser || L il BJ 351 (g) | Work Supprt and Remote-Control Unit
51991756 5 M 6x1  -35L 51991156 85 52
51991757 6 M 8x1.25-40L 51991157 115 62
51991759 10 M12x1.75-60L 51991159 310 92
51991760 10 M12x1.75-60L 51991160 335 95

14.80 | OML




BJ730 SWIVEL CONTACT BOLTS

m
_ ] ‘ L . | _
[Body]
Material:S45C steel C D
Heat treated (M6&MS sizes)
Black oxide finish A
[Ball]
Material:SUJ2
Heat treated
Part Number | A | B | C | D g |Load (?\f')padty W‘(*ég)ht
51991770 16 7.4 10 9 M 6x1 13,700 12
51991771 21 10.5 13 12 M 8x1.25 25,600 15
51991772 27 12.7 17 16 M10x1.5 40,000 45
51991773 32 15 22 20 M12x1.75 59,400 50
51991774 41 20 27 25 M16x2 96,400 115
Application Example
BJ130
Hook Clamp
BJ730

Swivel Contact Bolt

BJ530 BJ30
Hook-Clamp Holder Support Cylinder

-Use to clamp from above and/or below a workpiece.
-Ball swivel is not limited.

OML | 14.81




BJ731

TOGGLE PADS

Application Example
D
Knurled Nut BJ210
\ Adjustable Stop
BJ750 7/ © \ BJ731
Knurled Knob Toggle Pad
C
Material:S45C steel
Heat treated (contact surface)
Black oxide finish
Use to distribute clamping pressure to irregular workpiece
surfaces.
Load Capacity (N) | Weight
et NUmsEr | - A B < D E Static | Repeated| (g)
51991775 17 15 13 | M 8x1.25 6 8,000 5,300 18
51991776 25 22 19 | M12x1.75 8 15,900 | 10,600 60
51991777 33 28 24 | M16x2 10 26,700 | 17,800 130

BJ732

CONTACT BOLTS

Application Example

—/
C
D B

Material:SCM435 steel A

Heat treated

Black oxide finish

Heat treated on edge Contact Bot

Part Number | A B c D E R W'(ag%ht

51991235 30 25 22 7
51991236 40 35 32 10 M 6x1 R15 9
51991237 50 45 42 11
51991238 36 30 27 16
51991239 46 40 37 13 M 8x1.25 R17.5 19
51991240 56 50 47 22
51991241 48 40 37 33
51991242 58 50 47 17 M10x1.5 R20 38
51991243 68 60 57 42
51991244 50 40 35 60
51991245 70 60 55 19 M12x1.75 R30 65
51991246 80 70 65 70
51991247 55 45 40 110
51991248 75 65 60 24 M16x2 R35 125
51991249 85 75 70 135

14.82 | OML




Material:S45C steel
Heat treated
Black oxide finish

Part Number | A B c D E Wf’é‘-;’ht
51991780 13 28
51991781 63 | 16 | 9 | 4 |Msxis| 37
51991782 83 46
51991783 64 50
51991784 84 20 11 5 M10x1.5 60
51991785 | 104 70
51991786 65 75
51991787 8 %
51991788 | 105 | > | 1 | & | M7
51991789 130 130
51991790 8 170
51991791 105 190
51991792 | 130 | 2 | O | 8 | Miee 230
51991793 | 155 265

CLAMP SCREWS

Material:SCM435 steel
Heat treated

Black oxide finish
Hardness:RC33 - 39

>~ (]

PartNumber| A | B | C |D|E|F| 6 |R C'amp'(';?lfo’ce Aﬁg:;aﬂe(g‘_’;ﬁf’ Wﬁg‘t
51991800 | 50| 40| 37 21
51991801 | 60| 50| 47| 13 |3 | 55 Mext25| R6| 53,000 84 24
51991802 | 70| 60| 57 2
51991803 | 52| 40| 37 38
51991804 | 62| 50| 47| 17 | 35 | 75 |Mioxi5 |[R8| 89,000 178 42
51991805 | 72| 60| 57 46
51991806 | 75| 60| 55 70
51991807 | 95| 80| 75 80
21991808 | 112 (100 | sal 10 |5 | O |Mix75|R| 100000 240 ”
51991809 | 140 | 125 | 120 115
51991810 | 100 | 80| 75 165
51991811 | 120|100 | 95| 24 | 6 |12 |Miex2 |Ri2| 130,000 47 185
51991812 | 145 | 125 | 120 215

OML | 14.83




BJ750 KNURLED KNOBS

Material:S45C steel
Finish :Black oxide

¢ A
#D

#C

Part Number | A | B | Cc|D|E|F| @ W?g)ht
51991819 | 30 | 17 | 20 | 24 | 12 | 7 IM8xi25 | 50
51991820 | 36 | 20 | 28 | 30 | 14 | 8 |M10xi5 | 90
51991821 | 40 | 24 | 32 | 34 | 16 | 10 \M121.75 | 125

14.84 | OML




BJ763 FLAT FEET

(G) (G)

7,,E -

\F-Flush Bolt

Bl Material:S45C steel
Il Heat treated

B Black oxide finish

Bl Precision ground

Il Hardness:RC39 to 45

Code ( ;‘m ) ®B | &C D E F W(egljg)ht
5199 18 67 25 >
519918 68 5 | 30 77 20
519918 69 35 0
51991870 s | 14 4 |M6x 1 n
51991871 10 | 30 107 50
519918 72 35 5
51991873 30 o
519918 74 10 | 35 %0
519918 75 40 0
51991876 0 | 194 | 13| 5 [MBx125—
51991877 15 | 35 11
51991878 40 50

W Application Example

Locating Block

e

Round Pin

i
U

|
I !
\
|
|

Precision locator that keeps workpieces machined surfaces out of damage.
The accuracy of a locating block with Flat Feet installed can easily be compensated by regrinding the feet.

OML | 14.85




BJ810 REST PADS

(Ground)

(Round)

Material&finish

Steel (S15C)
Carburized-hardened
(Serrated) Black oxide finish

(Serrated)

oo | oo [ o Talofofo[e] ¢ [ [ v [Man
T am | SIS oo tuer | wr | 5|
roun | sus Se00 %y s s | |
soun | smieg | 9988 [ s S wods | ws | 5|
awn | smve | s 1s o o | oe | e | S

14.86 | OML




SCREW REST BUTTONS

F
o @ O @
(Ground) __ oD
@
LF?‘? iHIEm
m 1
(Round) }\Q } }
(Ground) (Round) (Serrated)

Material&finish

(Serrated) Steel (SUM22L)
Carburized - hardened
Black oxide finish

Ground Round Serrated Weight
A|B|C|D E F
code code code (9)
51991903 519919 04 519919 05 0 20 | 17 | 17 | M 8x1.25 [19.4| 24
519919 06 51991907 519919 08 24 40
519919 09 51991910 519919 11 15 | 29 | 22 | 22 |MIIT5 12527

OML | 14.87




BJ812 REST BUTTONS

F

& @

m : o~ D

(Ground) $C ®C
© |
J A

5 E -

S — < i’l

2o | 2

(Round) E_/ (Ground) (Round) (Serrated)
Material&finish
(Serrated) Steel(SUM22L)
Carburized-hardened
Black oxide finish
Ground Round Serrated Alelclp £ E Weight
code code code (9

51991912 51991913 51991914 15 6 23
51991915 519919 16 51991917 |25 | | ' [q6 | M| 194
51991918 51991919 519919 20 20 10 52
519919 21 519919 22 51991923 25 15 65
51991924 519919 25 519919 26 30|22 |22 |20 |M12x1.75 | 25.2 77
519919 27 519919 28 51991929 40 o5 105
51991930 519919 31 519919 32 50 135

14.88 | OML




BJ760 SCREW REST PADS

ol N 1 [~ _ _ _ _+
L
B A C
Material&finish
Steel (S45C)
Quenched and tempered
Black oxide finish
Heat treated to Rc33-39
Part Number A B C D E W?;Sht
51991942 10 8 6
51991943 20 0] 0 g | MO 13
51991944 15 10 18
51991945 30 B 1 g | M&1.25 33
519919 46 20 44
51991947 40 17 16 13 M10x1.5 80
51991948 25 70
5199 19 49 50 L R N L r

OML | 14.89




BJ735 TOGGLE PADS

A A c
F
[a)] e B
© &
(Plain) |
X/SWIVEL 6° SWIVEL 6° E
(Plain) (Serrated)
Insert Tip
Plain Steel Steel (SCM440)
(SCM440) | Quenched and tempered
Black oxide | Black oxide finish | Carbide
(Serrated) Serrated | ich Heat teated 0 Re36-40 | Blackoxice fsh
Load Capacity | Weight
s A | B | C|D E F
code o i
51991950 15.5
519919 51 3 | 14| 12| 143 M6 55 | 5000 | 9
51991952 19.5
51991953 17 16 14 16 M 8x1.25 7 10,000 13
519919 54 215
519919 56 25.5
5199 19 57 9 21 22 254 |M12x1.75| 9.5 24,000 34
51991958 28
519919 59 s | 24| 2 | 254 M16x2 11 | 38000 | 50
51991960 33

14.90 | OML




¢A%13 BiOOZ6 BO13
@) B (G)
/\ 7 T D 77
(Steel) c
(Steel) (Plastic)
Steel (SNCM220)
Carburized-hardened
Steel | gjack oxide finish
Heat treated to Rc60
. | Polyacetal plastic
) Plastic White
(Plastic)
Steel Plastic
Part Number Weight (g) Part Number Weight (g) A B C b
519919 62 5 519919 68 1 10 10 5 M5x0.8
519919 63 8 51991969 2 12 10 5 M5x0.8
519919 64 10 51991970 2 12 12 6.4 |[M5x0.8
519919 65 15 51991971 3 16 10 5 M6x1
519919 66 23 51991972 4 20 10 5 M6x1
5199 19 67 37 51991973 7 25 10 5 M6x 1
Application Examples
SRP
[T']] DRP
(] B
am [
|
c &DDZ am i

=
,{{74

* Workpiece positioning * Protecting a soft or precision ground workpiece.

OML | 14.91




BEI ROUND GRIPPERS, Tapped

DA B
4.7 E oo
o
Steel (SKH51)
Quenched and tempered
Black oxide finish
Heat treated to Rc62
A B Weight
Part Number (0. | (.8, C D E (9)
51991974 10 45 5
51991975 10 12 23 | M5x0.8 ¢ 6
51991976 10 45 8
51991977 12 12 3 M08 ¢ 9
51991978 10 45 14
51991979 16 12 8 | Mex 6 15
519919 80 10 45 23
519919 81 20 12 3 | Mex1 6 25
519919 82 10 45 37
519919 83 25 12 8 | Mex1 6 40

B sQUARE GRIPPERS, Tapped

A
|
< \ ) Material & Finish
Steel (SKH51)
Quenched and tempered
Black oxide finish
Heat treated to Rc62
A B Weight
Part Number (3.13) (8.13) = D (g)
51991984 10 7
10 2.3 M5x0.8
519919 85 12 X 75
519919 86 10 10
5199 19 87 12 12 8 M5x08
519919 88 16 10 3 M6x 1 17
519919 89 10 30
20 3 M5x0.8
519919 90 12 X 335
51 99 19 91 10 47
2 M6x1
519919 92 ; 12 3 ox 53

14.92 | OML




HS-C

ROUND GRIPPERS, C’'Bored

D—For Hex.

Socket-Head Cap Screw

Steel (SKH51)

Quenched and tempered
Black oxide finish
Heat treated to Rc62

Part Number (_Q ) (_51 ) C D Wa:i]g);ht
sootos | o | es | M
sootos | o | as | ™ i
e | P ss | " |
somw | P | as | ™

SQUARE GRIPPERS, C’Bored

A

< —} —_ —_
D—For Hex. Steel (SKH51)

Socket-Head Cap Screw Quenched and tempered

Black oxide finish

Heat treated to Rc62

A B Weight

FEltN Uz (8.13) 9.13) & 2 (g)
519920 01 10 4.5 8
5199 20 02 12 12 6.5 a4 10
519920 03 16 10 4.5 M4 16
519920 04 10 3.5 25
51992005 20 12 55 MS 31
519920 06 10 2.5 40
519920 07 25 12 4.5 Me 49

OML | 14.93




ROUND GRIPPERS

oA
oD
o0
o
Steel (SCM440 .
Quenched and tempered CarbKje
e Black oxide
F Black oxide finish i
Heat treated to Re32
A B G Weight
EO6LE 9.13) | (8.13) © 2 = F et The lengtt) | (@)
5199 20 08 10 | 45 6.5 5
51992000 | ° | 12 | & 79 | 23 | M5x08 g, 6
51992010 10 45 6.5 8
51992011 | 2 | 12 | 6 95 | 3 | Mox08 g, 9
51992012 10 4.5 6.5 14
51992013 | © [ 12 | & | 27 | 3 | Méx 85 17
51992014 10 45 6.5 23
51992015 | 2 [ 12 | 5 | 29| 3 | Méx 85 28
51992016 10 45 6.5 35
51992017 | 2 [ 12 | s | 91| 3 | Med 85 13
1 2 »%A 13 A

10.3 B
T

13
<
N

|
|
|
L

e A B Weight
(5.13) |(EfectieTreadlengtt |  (g) Steel (SCM440 |\ .\
swme | 0 65 | U i |
51992019 12 8.5 13 ezt reated o Rcy? | ST

14.94 | OML




BTSN cocE GRIPPERS, Diamond Serration

A
A/2 E-For Hex. Socket-Head Cap Screw
«4‘ (For M6 - W10 thread sizes, use low-head cap Screws)
< |
e F
| Steel(SKH51)
o ] Jr j Quenched apd tempgred
© T oM Black oxide finish
Lo e Heat treated to Rc62
A B Weight
code " ; C D E F
( -0.13 ) ( -0.13 ) (g)
519920 20 6 2.8 4
5199 20 21 10 o | %% [es | M3 | 16 6
519920 22 6 1.9 4
5199 20 23 12 10 3 5.9 M 4 2.3 8
51992024 12 7.9 10
5199 20 25 6 1.8 8
5199 20 26 16 10 3 5.8 M6 3.2 14
519920 27 12 7.8 17
5199 20 28 6 0.9 10
51992029 20 10 3 49 M8 3.2 20
5199 20 30 12 6.9 25
5199 20 31 10 3.4 31
IEEEEEI coce GRIPPERS, Staight Serratior
A
A2 E-For Hex. Socket-Head Cap Screw
Hi (For M6 - M10thread sizes, Use low-head cap screws)
< T -
—AF
| Steel (SKH51)
P | Quenched and tempered
3oL § J'T Af @ Black oxide finish
! Heat treated to Re62
A B Weight
code (36) | (Sw) C D E F )
519920 33 6 2.8 4
519920 34 10 0 | 23 [ g | M3 | 16 6
5199 20 35 6 1.9 5
5199 20 36 12 10 3 5.9 M4 2.3 8
5199 20 37 12 7.9 10
5199 20 38 6 1.8 8
519920 39 16 10 3 5.8 M6 3.2 14
5199 20 40 12 7.8 18
5199 20 41 6 0.9 10
5199 20 42 20 10 3 4.9 M 8 3.2 20
51992043 12 6.9 25
51992044 10 3.4 31
5199 20 45 25 2 | 3 54 | MO | 32 Ty

OML | 14.95




xSYA (A3 ANGLE GRIPPERS

®

5199 20 48
5199 20 46| Steel (SKH51)
_ Quenched and tempered
, o 51392047 Black oxide finish
7 ' 51992048 Heat treated to Rc62
Steel (SKH51) .
51992050 5199 20 51 51992049 Quenched and tempered Carbu:je
91992050 gy oxie irsh fB,'?Cr:‘ oxide
)’m 519920 51 Heat treated to Rc62 s
| 5199 20 52| Carbide
:z;? 5199 20 53 Black oxide finish
519920 52 519920 53 5199 20 54 5199 20 54
‘ 14.3%.05 Mb5x0. 8 9.5%13
|
) - . _
n o~
B Oy BR[O £
— I | 1 1
5199 20 46 5199 20 47 5199 20 48
14.39% 05
11.9,| M5x0.8 9-5%13
" o o™ _ Y Z _
Ln // ~ // ’V —‘ //
] B @ ; /:—————-" Lﬂ ] % /5————1’ ] / /:————1’
— /\Z [ | - \‘/ ] QLO e
N 1 S
51992049 51992050 5199 20 51
‘ 14. 37%.05‘ MbExQO. 8 9.5%.13
-/
- o™
- ~ e # | |
- _ | O LI 7 Lf'; _ _ | | 7 - 3\ 1 T
i T \._/ Jl:ﬂ:’ \._/ Jl:ﬂ:’
Nzl Ry
5199 20 52 51992053 519920 54
Part Number Ut Part Number LIl Part Number B
(9) (@) (9)
5199 20 46 1 519920 49 12 5199 20 52
5199 20 47 1 51992050 3 519920 53 20
5199 20 48 5199 20 51 5199 20 54

14.96 | OML




B SOCKET SCREW GRIPPERS
| A
D C
: #% g
\e
Weight Material & Finish
code A B C D E (9) Steel (SKH51)
51 99 20 55 o5 13 Quenched z_and te_m_pered
sigozse | 40 | o | 0 | MO T e nees,
5199 20 57 25 16
519920 58 0 | ° S 6 |MI2x1.75 g
5199 20 59 25 34
5199 20 60 0 | 2 6 8 |M16x2 53
5199 20 61 25 54
5199 20 62 0 | ° 8 10 |M20x25 g,
IS 71PPED SOCKET SCREW GRIPPERS
A
®B 127 |  F D] c
N

90°
aﬁ*
O\ O\
|
|
BN
| (|

Steel (SCM440)
Quenched and tempered

Carbide

Black oxide finish | Di2ck 0Hde fish

code A B c D E F W‘ght
51992063 25 15
109 20 4 = 6.4 5 4 23 | Mi0x15 =
5199 20 65 25 21
5199 20 66 50 7.9 6 5 2.3 M12x1.75 3
5199 20 67 25 37
109 20 6 =aniiN 8 6 3 M16x2 =
51992069 25 57
1902070 1 127 | 10 8 3 M20x2.5 w

OML | 14.97




BRI 11°P:D SOCKET SCREW GRIPPERS

A
o8B .27, F D c
f‘% ] (r o)
o l /==
&) =06 @)

code A |B|c|D|E F gl
(9) Steel (SCM440 ) [ .

51992071 25 21 Quenched and tempered S
519920 72 50 | /9] 65 |3 | M2x175 43 Black oxide finish | ok 0xde fish
51992073 25 37

51992074 50 |11 8|6 ]3| Miex2 27

51992075 25 57

51992076 5o 127|108 ]3| M0x25 [0

C | B |

oD
N
90°
aﬁ*
LA
|
|

code A B|C|D]|E F
o > (@Jz3 Steel (SCM440 )
Quenched and tempered | Carbide

51992078 o5 |° |10 79723 | M6x1 8 Black oxide finish | Black oide finish
51992079 12 10 Heat treated to Rc32
51992080 25 6413 | 95|3 M 8x1.25 15

5199 20 81 35 17

5199 20 82 25 8317 (1273 M10x1.25 20

519920 83 12 25

519920 84 25 8317 (1273 M10x1.5 27

5199 20 85 40 36

5199 20 86 25 42

519920 87 40 87119 (1593 M12x1.75 55

5199 20 88 35 88

5199 20 89 50 11 24 11913 M16x2 107

5199 20 90 40 133

14.98 | OML




=TV | =x:HEAD SWIVEL GRIPPER SCREW

4

51992092 -2097
(Serrated, Steel Ball)

' 4

51992112-2117
(Plain, Steel Ball)

e d

51992132-2137
(Plain, Plastic Ball)

g

51992098 -21 11
(Serrated, Steel Tip)

4

51992118 -21 31
(Plain, Steel Tip)

: 4

519921 38 - 21 51
(Plain, Plastic Tip)

SWIVEL 10°

Ol_ &

=3 ///

: 15 = 7 \%
B+0.13 A

! 51992112-2117
(Plain, Steel Ball)
51992132-2137
(Plain, Plastic Ball)

51992092-2097
(Serrated, Steel Ball)

F-Across 2 Flats

519921 18-21 31

(Plain, Steel Tip)
519921 38 - 21 51

(Plain, Plastic Tip)

51992098 - 21 11
(Serrated, Steel Tip)

code

51992092-2097
51992112-2117

Ball

Steel(SKH51)

Quenched and tempered
Black oxide finish

Heat treated to Rc60

Body Tip

51992132-2137

Polyacetal plastic
White

Steel(SCM440)

51992098 -21 11

Steel(SKH51)
Quenched and tempered
Black oxidg finish

Heat treated to Rc62

Quenched and
tempered

51992118-2131

Black oxide
finish

Stainless steel
(SUS440)

Steel (SNCM220)
Carburized-hardened
Black oxide finish
Heat treated to Rc60

5199 21 38 - 21 51

Polyacetal plastic
White

OML | 14.99




Serrated (Steel) Plain (Steel) Plain (Plastic) Load Capacty
code Weight()) |  code Weight )|  code Weight (q) (N)

51992092 7 51992112 7 51992132 6 |12
51992093 8 51992113 8 51992133 7 |2595| 6[10M6x1 |- | 5300
519920 94 10 51992114 10 51992134 9 |40

5199 20 95 12 51992115 12 51992135 11 |12
519920 96 18 51992116 18 51992136 16 | 25/ 13 8.5 |13 |M 8x1.25| - {10,900
51992097 22 51992117 22 51992137 21 |40

51992098 26 51992118 26 51992138 22 |15
51992099 33 51992119 33 51992139 29 | 30[ 17 | 10 |17 M10x1.5 | 3|18,400
51992100 43 51992120 43 51992140 39 |50

51992101 55 51992121 55 519921 41 49 |20
51992102 65 51992122 65 51992142 59 | 40| 19 | 12 |19 M12x1.75| 524,500
51992103 75 51992123 75 51992143 69 |60

51992104 87 51992124 87 51992144 75 | 25
5199 21 05 117 519921 25 117 51992145 105 | 50| 23 | 16 |24 |M16x2 | 643,600
51992106 152 5199 21 26 152 519921 46 140 | 80

51992107 153 51992127 154 51992147 134 | 30
51992108 205 51992128 206 51992148 186 | 60| 24 | 20 |30 |M20x2.5 | 857,700
51992109 276 51992129 277 51992149 257 |100

51992110 287 519921 30 289 51992150 257 | 40
519921 11 432 5199 21 31 434 5199 21 51 402 {100

30 | 25 {36 |M24x3 | 1085,600

Application Example

v ,
*77 -F’E‘
Uil

+ |deal for workpiece positioning and positive holding. + Can also be used as screw jacks.

How To Install Tip
+ Push the ball out of the body and then secure the tip to the ball using the included hex.
socket-head cap screw.

14.100 | OML




SWIVEL GRIPPER SCREWS

5199 21 52 - 21 57
(Serrated, Steel Ball

5199 2163 - 21 68

5199 21 58 - 21 62
(Serrated, Steel Tip

SWIVEL10° p

5|

5199 21 52 - 21 57
(Serrated, Steel Ball )

SWIVEL 10’

C-Across 2 Flats

£
51992163 -21 68
(Plain, Steel Ball )

51992174-2179
(Plain, Plastic Ball )

S

7

4

51992158 - 21 62
(Serrated, Steel Tip )

R

v 4

51992169-2173
(Plain, Steel Tip )
51992180-2184
(Plain, Plastic Tip )

(Plain, Steel Ball) code Body Ball Tip ‘
Steel (SKH51 )
51992152 -2157 Quenched and tempered
51992169-2173 S
; : 51992163 -2168 Black oxide finish
(Plain, Steel T'b Heat treated to Rc60
51992174-2179 miyticeta' plastic
Steel (SCM440
Quenched and tempered ate??hte é;gﬁ:lm%: re?i
51992158 - 2162 | Black oxice inish Bk ode fis
51992174-2179 :ez’;treated to Heat treated to Rc62
(Plain, Plastic Ball ¢ Stainless steel |Steel(SNCM220)
. (SUS440 ) |Carburized-hardened
519921692173 Black oxide finish
51 99 21 80_' 2184 Heat treated to Ro60
(Plain, Plastic Tip Polyacetal plastic
5199 2180-2184 Whts
Serrated (Steel) Plain (Steel) Plain (Plastic) oz | e D Load Capacty
code Weight(@)| code Weight(@)| code Weight (g) (N)
5199 21 52 13 5199 21 63 13 51992174 12 |25
5199 21 53 19 5199 21 64 19 51992175 18 |35|6 6 | M12x1.75 | 5,300
5199 21 54 28 5199 21 65 28 51992176 27 |50
5199 21 55 26 5199 21 66 26 51992177 25 |25
5199 21 56 39 5199 21 67 39 51992178 38 3585 8| Mi6x2 10,900
5199 21 57 58 5199 21 68 58 51992179 57 |50
5199 21 58 57 5199 21 69 57 51992180 53 |30 10
51992159 90 51992170 90 5199 21 81 86 |50 10 M20x2.5 | 18,400
5199 21 60 123 51992171 123 5199 21 82 19 |70 8
5199 21 61 113 51992172 113 5199 21 83 107 |40
5199 21 62 210 51992173 210 5199 21 84 204 |80 12110 | M24x3 24500

OML I 14.101




Application Example TBU

+ Ideal for workpiece positioning and positive holding.
How To Install Tip

+ Push the ball out of the body and then secure the tip to the ball using the included hex. socket-head cap screw.

Application Example BBU

+ Grippers for better workpiece positioning methods.
How To Install Tip

+ Push the ball out of the body and then secure the tip to the ball using the included hex. socket-head cap screw.

14.102 1 OML




SWIVEL PAD GRIPPERS

51992185-2188
(Serrated, Steel Ball )

51992194-2197
(Plain, Steel Ball)

51992189-2193
(Serrated, Steel Tip )

: SWIVEL 10° D (Effective Length)
)K\
D oK | U i _ o —
\ ° :
1.5

—_—

A+0. 13

51992185-2188
(Serrated, Steel Ball )

51992194-2197
(Plain, Steel Ball)

51992203-2206
(Plain, Plastic Ball)

D (Effective Length)

|
51992189-2193
(Serrated, Steel Tip )

51992198-2202
(Plain, Steel Tip)

51992207-2211
(Plain, Plastic Tip)

51992198 - 22 02
(Plain, Steel Tip)

code

51992185-2188
51992194-2197

Steel (SKH51 )
Quenched and tempered
Black oxide finish

Heat treated to Rc60
. Polyacetal plastic
519922 03 - 22 06 White
519922 03 - 22 06 Steel (SKH51)
. . Steel (SCM440)
(Plain, Plastic Ball) 51992189-2193 | quenched andtempered glueEchgdathempered
lack oxide finish ROk
51 99 22 07 . 22 11 B Heat treated to Re62
(Plain, Plastic Tip ) Stainless steel ~[Steel (SNCM220)
5199 21 98 - 22 02 (SUS440) Carburized-hardened
Black oxide finish
Heat treated to Rc60
. Polyacetal plastic
519922 07 - 22 11 White
Serrated (Steel ) Plain (Steel ) Plain (Plastic) Lo Capacty
. _ - A|B|C|D E
Part Number | Weight(g) [Part Number | Weight(g) [Part Number | Weight(g) (N)
519921 85 6 519921 94 6 519922 03 5 |12 3.5
51992186 | 13 | 51992195 | 13 | 51992204 | 12 |25| | ° [g M H07 | 5800
5199 21 87 12 5199 21 96 12 5199 22 05 11 |16 6.5
5199 21 88 21 51992197 21 5199 22 06 20 |25 13]85 9 M 5x0.8 10900
51992189 31 519921 98 31 519922 07 27 |22 |17 |10 | 7.5M 6x1 18400
51992190 43 51992199 43 519922 08 37 |24 (1912 | 8.5M 8x1.25(24500
5199 21 91 72 51992200 73 51992209 61 |28 (24(16 |9 |[Mi10x1.5 {43600
51992192 128 5199 22 01 129 51992210 109 |30|30 20 | 8.5/M12x1.75/57700
51992193 235 519922 02 237 519922 11 205 |36 3625 |12 |M12x1.75|85600

OML | 14.103



14.104 | OML




